UGC NET 2022 VISUAL ART

Topic:- 079_PARTA_S1

1) Colossal relief sculpture of Vishnu as Varaha with Bhu devi dating from the Gupta period is
found at
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[Question ID = 1731][Question Description = 101_79_Visual_Art_SEPT22_QO01]
1. Devgarh

A= g

[Option ID = 6921]

2. Udaigiri cave
[Option ID = 6922]
3.

Elephanta cave

_-F"' .‘"J‘ W
[Option ID = 6923]
4. Ajanta cave No. 15
ST TR A, 15

[Option ID = 6924]
2)  Name the Jain Tirthankar bearing serpent hood as an iconographic feature.
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[Question ID = 1732][Question Description = 102_79_Visual_Art_SEPT22_Q02]
1. Mahavir
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[Option ID = 6925]
2. Neminath
[Option ID = 6926]

3. Parsvanath

P

e

[Option ID = 6927]
4. Adinath

[Option ID = 6928]



3)  The miniature painting school produced famous painting “Barm Thami” was patronized by the
king
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[Question ID = 1733][Question Description = 103_79_Visual_Art_SEPT22_Q03]
1. Raja Kripal Singh

[Option ID = 6929]
2. Raja Sawant Singh

[Option ID = 6930]
3. Raja Sansar Chand.

[Option ID = 6931]
4. Raja Balwant Singh

[Option ID = 6932]

4)  Making of cologzal sculpture iz an old tradition. Name the oldest existing colossal seulpture of
the world.

[Question ID = 1734][Question Description = 104_79_Visual_Art_SEPT22_Q04]
. Bamivan Buddha

AHAE T51

[Option ID = 6933]
2. (Colossal of Rhodes

[Option ID = 6934]

3. Colossus of Zeus a Olympia

AT | =H F1 -5

[Option ID = 6935]
4. The Great Sphinx of Giza

[Option ID = 6936]

5)  Feroz Minar has five starevs., first three storevs are octagonal. Where is it located?
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[Question ID = 1735][Question Description = 105_79_Visual_Art_SEPT22_QO05]

1. Gaur



[Option ID = 6937]
2. Pandua
TEA
[Option ID = 6938]
3. Avrangabad
_W—'- 1o

[Option ID = 6939]
4. Gulbarga
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[Option ID = 6940]

6) What is the name of first modern movement which forwarded abstract and non
representational art?
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[Question ID = 1736][Question Description = 106_79_Visual_Art_SEPT22_QO06]

1. Post Impressionism

S -THEAR
[Option ID = 6941]
2. Cubism
HETS

[Option ID = 6942]
3. Futurism
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[Option ID = 6943]
4. Dada

4l

[Option ID = 6944]



7)  Name the sculptor —
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[Question ID = 1737][Question Description = 107_79_Visual_Art_SEPT22_QO07]
1. Giam Bologna

[Option ID = 6945]
2. (Gian Lorenzo Berainm
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[Option ID = 6946]
3. Conova

[Option ID = 6947]
4. Michaelangelo
OTEFATAA]

[Option ID = 6948]



8) Name the painter of this painting.
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[Question ID = 1738][Question Description = 108_79_Visual_Art_SEPT22_Q08]
. Peter Paul Rubens
[Option ID = 6949]
2. Anmnihele Carract
i ’_"' L - u t
[Option ID = 6950]
3. Caravaggio
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[Option ID = 6951]

4. Giovanni Battista
o
AT A=

[Option ID = 6952]

9) In which vear. Dr. Alexander Hunter founded the Madras Art School?
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[Question ID = 1739][Question Description = 109_79_Visual_Art_SEPT22_Q09]



1. 1847
[Option ID = 6953]

2. 1830
[Option ID = 6954]

1857

w

[Option ID = 6955]
4. 1890

[Option ID = 6956]
10) ' The role of Art in our soclety 1s primarily
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[Question ID = 1740][Question Description = 110_79_Visual_Art_SEPT22_Q10]
1. Conceptual
SR 7
[Option ID = 6957]

2. itilitarian
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[Option ID = 6958]
3. Aesthetic
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[Option ID = 6959]
4. Ohjective
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[Option ID = 6960]

11)  Proportion’ in Indian Art was identified as
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[Question ID = 1741][Question Description = 111_79_Visual_Art_SEPT22_Q11]
1. Lavanva
AT A

[Option ID = 6961]
2. Roopabheda

=R g

[Option ID = 6962]
Pramanam

THTE H
[Option ID = 6963]
4. Sadrishya

3.

q-ig'qu::l

[Option ID = 6964]



12)  In western aesthetics, the gquality of greatness is known as
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[Question ID = 1742][Question Description = 112_79_Visual_Art_SEPT22_Q12]
1. Sublime
FEFA (Sublime)

[Option ID = 6965]
2. Norality

e (Morality)

[Option ID = 6966]
3. Humour

qEm (Humour)

[Option ID = 6967]
4. Spirttual

T (Spiritual)

[Option ID = 6968]

13) ‘Chaurapanchasika was a

[Question ID = 1743][Question Description = 113_79_Visual_Art_SEPT22_Q13]

1. Rajput manuscript
T ]_;.i ]-:—_,EE; E'ZI %

[Option ID = 6969]
2. Buddhist manuseript

Fn-g8 M 2

[Option ID = 6970]
3. Mughal manuscrpt

[Option ID = 6971]
4. Jain manuscript

[Option ID = 6972]
14)  Which arve the three colours considered as ‘Secondary Colours”
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[Question ID = 1744][Question Description = 114_79_Visual_Art_SEPT22_Q14]
1. Orange. Green and Purple

[Option ID = 6973]
2. Qrange, Green and Red



[Option ID = 6974]
3. Orange, Red and Blue

JAT, =, AT

[Option ID = 6975]
4. Red. Blue and Yellow

[Option ID = 6976]

15)  Name the artist of this painting.
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[Question ID = 1745][Question Description = 115_79_Visual_Art_SEPT22_Q15]
1. Ramkinkar Baize

[Option ID = 6977]
2. Bailoz Mukherjea

[Option ID = 6978]
3. Gopal Ghoze



[Option ID = 6979]

4. Paritosh Sen

[Option ID = 6980]

16)  Name the artist of this painting,
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[Question ID = 1746][Question Description = 116_79_Visual_Art_SEPT22_Q16]
- Egon Schiele

[Option ID = 6981]
2. Wassily Kandinsky

frrh-t i A

[Option ID = 6982]
3. Edvard Munch

Tnas 99

[Option ID = 6983]
4. Gustav Elunt

[Option ID = 6984]

7)  What do you mean by Pixel?
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[Question ID = 1747][Question Description = 117_79_Visual_Art_SEPT22_Q17]
1. 8mallest dot of Halftone

[Option ID = 6985]
2. (oating on Film

foemm m it

[Option ID = 6986]
3. Smallest component of dizital imagze

TsTszet widisst 1 w90y J=92F

[Option ID = 6987]
4. (Coating on photo paper

FIE 9 T F

[Option ID = 6988]
18)  What iz 'Font™?

w7
[Question ID = 1748][Question Description = 118_79_Visual_Art_SEPT22_Q18]
1. Design of a letter

[Option ID = 6989]
2. Character of a letter

[Option ID = 6990]

3. 'Bize of a letter

[Option ID = 6991]
4. Shape of a letter

[Option ID = 6992]

19)  Name a Film Divector with a background of Applied Art.
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[Question ID = 1749][Question Description = 119_79_Visual_Art_SEPT22_Q19]
1. Shyam Benegal

A AT

[Option ID = 6993]
2.  Satwajit Ray

oA 1

[Option ID = 6994]



3. Adur Gopal KErishnan
[Option ID = 6995]
4 Madhur Bhandrkar
YT HEEA

[Option ID = 6996]

20) What iz Logatype'?

M ZEY = AT
[Question ID = 1750][Question Description = 120_79_Visual_Art_SEPT22_Q20]
1. Pictorial image
[Option ID = 6997]
2. Letter image

[Option ID = 6998]
3. Numerical image

Ii’?—'l '_J'a—TI uﬁﬁ.ﬂ.
[Option ID = 6999]
4. Punctuation image
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[Option ID = 7000]

21)  What is ‘Spine’ of a book?

[Question ID = 1751][Question Description = 121_79_Visual_Art_SEPT22_Q21]
. Thickness of a book

[Option ID = 7001]
2. Length of a hook

[Option ID = 7002]
3. Bize of a book

[Option ID = 7003]
4. Weight of a book

T=F F AW

[Option ID = 7004]



22) ‘Roman Type’ letter has
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[Question ID = 1752][Question Description = 122_79_Visual_Art_SEPT22_Q22]
1. No Sernif

[Option ID = 7005]
2. With Serif

ofE =4

[Option ID = 7006]
3. Slab Serif

[Option ID = 7007]
4. Flat Senf

T2 JivH

[Option ID = 7008]

23)  Which J apanese company this logo belongs to
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[Question ID = 1753][Question Description = 123_79_Visual_Art_SEPT22_Q23]

1. Kawasaki

[Option ID = 7009]
2. SBuzula

-



[Option ID = 7010]

3. Mitsubishi
S
[Option ID = 7011]

4. Nissan
Er=zie

[Option ID = 7012]

24) Name the company this earicature belongs to
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[Question ID = 1754][Question Description = 124_79_Visual_Art_SEPT22_Q24]
1. Parag Milk Foods Litd.

[Option ID = 7013]
2. Gugrat Co-Operative Milk Marketing Federation Lid.

T i s s
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[Option ID = 7014]
3. Mother Diary Fruit and Vezetable Ltd.
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[Option ID = 7015]
4. Kerala Co-Operative Milkk Marketing Federation Ltd.
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[Option ID = 7016]
25) “Bum” is an effect achieved on
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[Question ID = 1755][Question Description = 125_79_Visual_Art_SEPT22_Q25]
1. Wood

[Option ID = 7017]

2. Metal

EiG|

[Option ID = 7018]
3. Rubber
TET

[Option ID = 7019]
4. Stone

T

[Option ID = 7020]
26) “Burnizher”is uszed for
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[Question ID = 1756][Question Description = 126_79_Visual_Art_SEPT22_Q26]
1. Removing burr
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[Option ID = 7021]
2.  Score lines into metal

[Option ID = 7022]
3. Bmaoothing the rough surface of a metal

[Option ID = 7023]
4. Laying wax ground on plate

Tl iz i1 wee W A F e e # fo
[Option ID = 7024]
27) Damp paper is used for the printing of
“warg wmwrs v e e 6 zm R v

[Question ID = 1757][Question Description = 127_79_Visual_Art_SEPT22_Q27]



-

Intaghio

[Option ID = 7025]
2. Lithography
feram
[Option ID = 7026]
3. Sermgraphy

[Option ID = 7027]
4. Photography

TRIZTITG]

[Option ID = 7028]

28) Who was the first artist to sign his own original prints?
[Question ID = 1758][Question Description = 128_79_Visual_Art_SEPT22_Q28]
1. James Me Neil Whistler

[Option ID = 7029]
2.  Karl Backer

[Option ID = 7030]
3. William Hodges

[Option ID = 7031]
4 Charles Dovly

[Option ID = 7032]
29)  Which broker of East India Company had purchased a press from Shivaji Maharaj in 16747
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[Question ID = 1759][Question Description = 129_79_Visual_Art_SEPT22_Q29]
1. Ramchaund Roy

[Option ID = 7033]
2. Birchandra Dutta

A= T

[Option ID = 7034]
3. Joseph Shepherd



[Option ID = 7035]
4. Bhimjee Parekh
[Option ID = 7036]

30)  Which missionaries set up a press in Tranguebar on the south east coast of India 1n 17127
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[Question ID = 1760][Question Description = 130_79_Visual_Art_SEPT22_Q30]
1. Duteh missionaries
[Option ID = 7037]
2. Danish missionaries

[Option ID = 7038]
3. Madras missionaries

W.‘Jr

[Option ID = 7039]
4. Portuguese missionaries
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[Option ID = 7040]

31)  Name the artist who created this print?




[Question ID = 1761][Question Description = 131_79_Visual_Art_SEPT22_Q31]
1. Walter D'Souza

[Option ID = 7041]

2. Dipak Banerjee
ZTF T

[Option ID = 7042]
3. Naina Dalal

[Option ID = 7043]
4. Jyoti Bhatt

[Option ID = 7044]

32)  What iz the medium of this print?




[Question ID = 1762][Question Description = 132_79_Visual_Art_SEPT22_Q32]
1. Collograph

[Option ID = 7045]

2. Colour intaglio
[Option ID = 7046]

3. Viscosity
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[Option ID = 7047]
4. Sereraph

i

[Option ID = 7048]

33) Fire clay can be fired on a temperature of
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[Question ID = 1763][Question Description = 133_79_Visual_Art_SEPT22_Q33]
1. under 400°C only
Faet 400 T=0t aframa @ Fa
[Option ID = 7049]
2. ynder 800°C only
Fa= 800 fofi afFmmEe A w0 W

[Option ID = 7050]
3. more than 1000°C

1000 =27 Hiea=s = =19

[Option ID = 7051]



4. more than 3000°C
3000 f=2ii ofeoag 9 Afas

[Option ID = 7052]

34)  Little Dancer of Fourteen Years' iz the only exhibited sculpture of which artist?
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[Question ID = 1764][Question Description = 134_79_Visual_Art_SEPT22_Q34]

1. Picaszo

[Option ID = 7053]
2. Naum (GGabo

[Option ID = 7054]
3. Matisse

=

[Option ID = 7055]
4. Edgar Degas

[Option ID = 7056]
35)  “Woman Combing Her Hair' iz the famous sculpture of which sculptor?
ST A B ] Fl 75 wteen (CgEa wifte w e ) e 8 6 e gitwn 1 wieg giveeg £ 7

[Question ID = 1765][Question Description = 135_79_Visual_Art_SEPT22_Q35]
1. A Balasubramaniam

T, ST d@quvEad

[Option ID = 7057]
2. A Archipenko
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[Option ID = 7058]
3. L. Mohaly Nagv
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[Option ID = 7059]
4. Naum Gaho

g T
[Option ID = 7060]

36) ‘Colossal sculpture’ is term which denotes the size of sculpture
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[Question ID = 1766][Question Description = 136_79_Visual_Art_SEPT22_Q36]



1. below 1ft

1679 %3

[Option ID = 7061]
over of life zize

N
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[Option ID = 7062]
3. half of life size
[Option ID = 7063]
4. life size

[Option ID = 7064]

37)  Which seulptor has made the meonumental sculpture “CHRIST THE REDEEMER" in Rio de
Janeiro, Brazil?
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[Question ID = 1767][Question Description = 137_79_Visual_Art_SEPT22_Q37]
. Landowski

:--: '.-:

[Option ID = 7065]
Marino Mamni
2 f‘ = -1['. -

[Option ID = 7066]
Isomu Naguchi

[Option ID = 7067]
4. Jeff Koons

2.

3.

[Option ID = 7068]
38) ‘Sunken relief has been largely used in which of the ancient art from helow?
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[Question ID = 1768][Question Description = 138_79_Visual_Art_SEPT22_Q38]
1. Egvptian Art
-
[Option ID = 7069]
2. Greek Art
AT T AT

[Option ID = 7070]



3. Chinese Art

[Option ID = 7071]
4. Sunga Art

[Option ID = 7072]

39)  Which material has been used to make this sculpture?
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[Question ID = 1769][Question Description = 139_79_Visual_Art_SEPT22_Q39]
T Aluminium

[Option ID = 7073]
2.  Stainless steel

[Option ID = 7074]
3. FRP

TFE AW O

[Option ID = 7075]



4. Bronze

[Option ID = 7076]

40)

What 1= the title of this artwork made by Jeff Koons?

[Question ID = 1770][Question Description = 140_79_Visual_Art_SEPT22_Q40]
1. Rabbit

[Option ID = 7077]
2. Fanecy Rabbit

[Option ID = 7078]
3. Rabhit story

[Option ID = 7079]



4. Rabbit sitting
itz TareT

[Option ID = 7080]

41) Select the correct set of the painters of Hamzanama.
(A) Ustad Mansoor
(B) Dasvanth
() Baszavan
(D) Mar Sayyid Al
(E) Abdul Sammad
Cheoose the correct answer from the options given below :
FRAAM] % [HEENT F WAl A=Ed H T[T

(A) TR T

(B) ©HEY
(C)y  FEEA

(D) HE s wE
(E) e e e
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[Question ID = 1771][Question Description = 141_79_Visual_Art_SEPT22_Q41]
1. (A) & (B) only

F77 (A) & (B)

[Option ID = 7081]
2. (C) & (D) only

Fa7 (C) & (D)
[Option ID = 7082]

3. (D) & (E) only

F=75 (D) & (E)
[Option ID = 7083]

4. (B) & (C) only

*a= (B) & (C)

[Option ID = 7084]



42)  Choose the correct set of two famous artist of Renaissance who where excellent painter and

az well seulptor.

(A} Leonado Da Vinei
(B) Raphael

Q) Michel Angelo

(D)  Andrea del Verochio
(E) Correggio

Choose the correct answer from the options given below :
(A)  TeAm w7 =
(B) TR
(C) =Ewa uwel

D) ¥ TE wEA

(E) o=
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[Question ID = 1772][Question Description = 142_79_Visual_Art_SEPT22_Q42]
' {A) & (B) only
Fa (A) & (B)

[Option ID = 7085]
2. (C) & (D) only

Fae (C) & (D)

[Option ID = 7086]
3. (A) & (E)only

a9 (A) & (E)
[Option ID = 7087]

4 (B) & (D) only

== (B) & (D)

[Option ID = 7088]

43) Select the correct set of three major theories those are referred to Aesthetics.

(A) Farmalism

(B) Imitationalism
(C) Emotionalism
(D) Ideahism

(E) Semiotic

Choose the correct answer from the options given below ;



(A HHETTH

(B) vERETH

(C) THEEEH

(D) FEETEs

(E) fafmszs
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[Question ID = 1773][Question Description = 143_79_Visual_Art_SEPT22_Q43]
T (A), (B) & (C) only

FaE (A). (B) & ()
[Option ID = 7089]

2. (B). (D) & {(E)aonly

#Fas (B). (D) & (E)

[Option ID = 7090]
3. (A), (D) & (E) only

F=ae7 (A). (D) & (E)
[Option ID = 7091]

4 (A). (C) & (D) only

a4 (A), (C) & (D)

[Option ID = 7092]

44)  Western group of temples at Khajuraho includes

{A) Kandariyva Mahadev Temple
(B) Parsvanath Temiple

(C) Lakshaman Temple

(D) Brahma Temple

(E) Vishwanath Temple

Choose the correct answer from the options given below :
(A) =i gEEa o
(B)  TEA TR
(C)  &H "t
(D) wEE HIE
(E) Tava1a g
1 B TR o o e Tl = ot e e e D |

[Question ID = 1774][Question Description = 144_79_Visual_Art_SEPT22_Q44]
1. (A). (C) & (E) only

Faa (A). (C) & (E)



[Option ID = 7093]
2. (A), (B) & (C) only

Fa (A). (B) & (C)

[Option ID = 7094]
3. (B).(C) & (E) only

Fae (B). (C) & (E)
[Option ID = 7095]
4. (B). (D) & (E) only

*=5 (B), (D) & (E)

[Option ID = 7096]

45)  Following are the iconographical features of Dhyani Buddha Amitabh

(A) Red body colour

(B) Elephant vehicle

Q) Thunder bolt symbol
(D) Dhyan mudra

(E) West Direction

Choose the correct answer from the options given below :
(A)  THF =T -
(B) TSET-E
() AT FR-Atsa famm
(D) =M

(E)  men-aiv=m

e Tou 1w Taped B H T 397 R 999 HiA

[Question ID = 1775][Question Description = 145_79_Visual_Art_SEPT22_Q45]
1. (&), (C) & (E) only

Faa (A), (C) & (E)

[Option ID = 7097]
2. (B). (D) & (E) only

FF7 (B). (D) & (E)

[Option ID = 7098]
3. (A). (D) & (E) only

Fae (A). (D) & (E)

[Option ID = 7099]
4 (C).(E) & (A) only

w4 (C). (E) & (4A)

[Option ID = 7100]



46) Some of the important post modern artists ave

(A)  Yves Klein

(B) Roberto Matta
(C) David Salle

(D) Jackson Pollock
(E) Judi Chicago

Choose the correct answer from the options given below :

T e - SATHE FER F AE B

(&) T FeE
(B) =l mE
(€ zEs
(D)  FFEA T
(E) =1 fomrmt

= Tou T e § # T S E = A
[Question ID = 1776][Question Description = 146_79_Visual_Art_SEPT22_Q46]
. (A) (B) & (E) only

= (A). (B) & (E)

[Option ID = 7101]

2. {B).(C) & (E) only
Fae (B). (C) & (B)

[Option ID = 7102]

3. (0).(D) & (E) only
Fa1 (C). (D) & (E)

[Option ID = 7103]

4. (A). (C) & (E) only
e (A). (C) & (E)

[Option ID = 7104]

47)  The team of artists, who illuminated the Constitution of India included
{A) Rani Chanda
(B) Gauri Bhanja
(C)  Jamuna Sen
(I Nibedita Bose

(E) Sunayam Devi

Choose the corrvect answer from the options given below :



WA F AGEH i G-l S o A e S 5 e
(A) T =
(B) TN W=

(C) =mmEA

(D) Tt =
(E) T o

419 fam 0 TaEeT T A 3 1 99E wE

[Question ID = 1777][Question Description = 147_79_Visual_Art_SEPT22_Q47]
1. (A), (B) and (C) only

a5 (A). (B) & (O)
[Option ID = 7105]
2. (B). () and (D) only
F=9 (B). (C) & (D)
[Option ID = 7106]
3. (C). (D) and (E) only
F34 (C). (D) & (E)
[Option ID = 7107]
4. (A), (C) and (E) only
FaE (A (C) & (E)

[Option ID = 7108]

48)  The painters of ‘Company School included

(A)  Bhawamn Das

(B) Ranadaprazsad Gupta
(C) Atul Boze

(D) Mazhar Ali Khan

(E) Daswant

Choose the correct answer from the options given below :

‘Fog] TEe % EEEE] § 9 R
(A vaEl T

(B) ORI WA AT

(©) v Aw

(D) = F= &

(E) gaa+

4= o T e § 3 W I W = i

[Question ID = 1778][Question Description = 148_79_Visual_Art_SEPT22_Q48]
1. (B) & (E) only



a5 (B) & (E)
[Option ID = 7109]

2. (@) & (E) only

Fa4 (C) & (E)
[Option ID = 7110]

3. (A) & (D) only

Faa (A) & (D)
[Option ID = 7111]

4 (A) & (C) only

Fa= (A) & (C)

[Option ID = 7112]

49)  The aesthetic theory of Croce includes

(A) Impression
(B) Randition
() Coneeption
() Intuition
(E) Expression

Choose the correct answer from the options given helow !

FT % Hicd AT g | e #

(A) TEH
(B T=vm
(€) FTA
D) =g

(E) TFEEH

1 for e Taedt © B A = w1 =9 A0
[Question ID = 1779][Question Description = 149_79_Visual_Art_SEPT22_Q49]
1. (D) & (E) only

F79 (D) & (E)
[Option ID = 7113]

2. (A) & (D) only

F=7 (A) & (D)
[Option ID = 7114]

3. (B) & (C) only

== (B) & (C)
[Option ID = 7115]

4. (C) & (E) only

F=77 (C) & (E)

[Option ID = 7116]



50)  In Indian Aesthetics. Bhava includes

(A) Asthavi Bhava
(B) Sthayi Bhava
(C) Dwibhava

(D) Vibhava

(E) Anubhava

Choose the correct answer from the options given below :
YA digd WA H, 9| ° g 2

{A) ST O

(By  w4E 9E
(© Tzam

D)y TEuE

(E) YA

A T T T © H W I 1 = A

[Question ID = 1780][Question Description = 150_79_Visual_Art_SEPT22_Q50]
1. (C), (D) & (E) only

a7 (C). (D) & (E)

[Option ID = 7117]
2. (A). (C) & (D) only

FaA (A). (O) & (D)
[Option ID = 7118]

3. (A), (B) & (E) only

== (A). (B) & (E)
[Option ID = 7119]

4. (B). (D) & (E) only

Fa= (B). (D) & (E)

[Option ID = 7120]

51)  The following items are velated to ‘Out Door’ media

1A) Poster
(B) Radio

(@) Hoarding
Dy 1TV

(E) Magazine

Choose the correct answer from the options given below :



frTaiEd 75 CwrEesn | Hitsgr o mEled B

(A) Tz
(B) =
(C) =wrEm
D) A
(E)  afasm

= feu e Tawea § | T8 397 #1949 A
[Question ID = 1781][Question Description = 151_79_Visual_Art_SEPT22_Q51]
1. (A) & (B) only

a5 (A) & (B)
[Option ID = 7121]
2. (A) & (C)only
Fae (A) & (C)
[Option ID = 7122]
3 (B) & (C) only
#ae (B) & (C)
[Option ID = 7123]
4 (C) & (E)only
Fa9 (0) & (E)

[Option ID = 7124]

52) Aleque Padansee is a well known

(AN Advertising Man
(B) Singer

(C) Theatre personality
(D)  Musician

(E) Writer

Choose the coriect answer from the options given below :

(A  famme =t
(B) e e

(C) AT
(D)  =EEE

(E) =&F

= Tou 0 e § F WA 397 6 99 WA

[Question ID = 1782][Question Description = 152_79_Visual_Art_SEPT22_Q52]
1. (A), (C) and (E) only

4 (A). (C) & (B)



[Option ID = 7125]
2. (B). (0) and (D) only

F=+ (B). (C) & (D)
[Option ID = 7126]
3. (©). (D) and (E) only
#Fae (C). (D) & (E)
[Option ID = 7127]
4. (B). (D) and (E} only
Fa+ (B). (D) & (E)

[Option ID = 7128]

53)  Yector and Roster are two main ways of saving a

(A) Photographic image
(B) Graphic image

(C) Dizital image

Iy Printed image

(E) Crafted image

Choose the correct answer from the options given below :

92T UA TR AEAEREA AT o) T w4 A

(A) IR WA

(B) e ufeias
Q) Tsr=ze= ulamEE
(D) TozE iEEE

(E) == 9mEE

4= fou T e ¥ @ w3 S =9 A

[Question ID = 1783][Question Description = 153_79_Visual_Art_SEPT22_Q53]
' (A) & (C) only

A (A) & (C)

[Option ID = 7129]
2. (B) & (C) only

Fa= (B) & (O)
[Option ID = 7130]

3. (D) & (C) only

Fae (D) & (C)
[Option ID = 7131]

4. (E) & (C) only

a4 (E) & (C)

[Option ID = 7132]



54) ‘Bauhaus’ Desizn revoluton was not only about style, it is about

(A) Content and 1deas

(B) Vizgual and Social reforms
(C) Thoughts and Intmition
(D) Forms and Functionality
(E) Text and Typography

Choose the correct answer from the options given below :

CIERIE B e e 1 e B i iz e - T | o e
(A)  HA=raeg U foaEnl R HEE A
(B)  ¥A TE HIEIH HET
(C)  Ta=w ud AaaH
(D) == vE A
(E) W= TF TRImTH
5 fam o foen 3 7w = A == R
[Question ID = 1784][Question Description = 154_79_Visual_Art_SEPT22_Q54]
1. (A) & (B) only
Fa9 (A) & (B)
[Option ID = 7133]
2. (C) & (D) only
#Fae (C) & (D)
[Option ID = 7134]
3. (I & (A) only
Fae (D) & (4)

[Option ID = 7135]
4. (A) & (E) only

Fa (A) & (E)

[Option ID = 7136]

35) Identify the institutions where Applied Art is not taught

(A) Banaras Hindu University

(B) Sir JJ Schoal of Avt. Mumbai

{0y Colleze of Arts and Crafis. Kolkata
(D) Shantiniketan, Bolpur

(E) MLS. University, Baroda

Choose the correct answer from the options given helow :



(&) = e EvatEEeE

(B) = S T A A1, oA

(C) e 3% AWH U FEH, Fewm
(D) wnfaFF, T

r o

(E) TH.mH, JEAEEE, wem

{8 B r B, e s mn
s 1E= B [ LURN =1 2en R R e o M2 DI 21 = B e %i&ﬂ.’_. i

[Question ID = 1785][Question Description = 155_79_Visual_Art_SEPT22_Q55]
T (A & (B) only

e (A) & (B)

[Option ID = 7137]
2. (B) & (D) only

Fa=1 (B) & (D)

[Option ID = 7138]
3. (D) & (E)only

Fae (D) & (E)
[Option ID = 7139]

4. (A) & (C) only

F=e1 (A) & (0)

[Option ID = 7140]

56) Which technigque was used by Haren Das mostly :

(A) Woodcut

(B) Wood engraving

(C) Sergraph

(D) Etching and aguatint
(E) Callograph

Choose the most appropriate answer from the options given below :
EH T 5 ST TR aATE T TAnT (el a1t

f:lU EEETS

(B) Iz AT

(C)  HimTE
(D) ©E v v
(E)  Fi=mms

/= Tou U T B A HWAl I R =99 RO

[Question ID = 1786][Question Description = 156_79_Visual_Art_SEPT22_Q56]
1. (A). (B) and (E) only

A= (A), (B) & (E)



[Option ID = 7141]
2. (A),(C) and (D) only
e (A). (C) & (D)
[Option ID = 7142]
3. (A). (B) and (D) only
=4 (A). (B) & (D)
[Option ID = 7143]
4. (B) (T} and (D) only
F= (B). (C) & (D)

[Option ID = 7144]

57) Javant Parikh 1= a famous

(A) Pont maker

(B} Sculpior.

() Muralist

(D)  Photographer

(E) Miniature painter

Choose the correct answer from the options given helow :
T T T TS

(A)  TaeEE
(B) HmmEwTEr
(C) Tafs faww
(D) TFEETE
(E) G IEEET
419 fon T EFET | 6 O 39 F 999 A
[Question ID = 1787][Question Description = 157_79_Visual_Art_SEPT22_Q57]
1. (B) & (D) only
Fa (B) & (D)
[Option ID = 7145]
2. (B) & (E)only
#4949 (B) & (E)
[Option ID = 7146]
3. (A) & (D) only
F=+ (A) & (D)
[Option ID = 7147]
4 (A) & (C) only
FaE (A) & (C)

[Option ID = 7148]



58) TIdentify the print makers :
{A)  Amitabh Bannerjee
(B) Biman B. Das
(C) Kanwal Krishna
(D)  Lalita Lajmi
(E) Sushen Ghosh

Choose the correct answer from the options given below :

(A)  AmETY ST
(By Togm@ . =@
(C) e Fom

(D) wAfera =TEEr

(E) TH =M™

S fou T ot B T A W = A
[Question ID = 1788][Question Description = 158_79_Visual_Art_SEPT22_Q58]
1. (A). (B) and (C) only

Fa= (A). (B) & (C)
[Option ID = 7149]
2. (A), (C) and (E) only
Fa (A). (O) & (E)
[Option ID = 7150]
3. {A), (C) and (D) only
a4 (A). (C) & (D)
[Option ID = 7151]

4. (A), (D) and (E) only

A= (A). (D) & (E)

[Option ID = 7152]

59) Identify the print makers :

(A)  Devraj Dakoj

(B)  Pavamjeet Singh
(C)  Dipak Banerjee
(D) Devvani Krishna
(E) Bhupen Khalkhar

Chaooze the correct answer from the options given below :



.

(A) TS TR
(B) wEHmE |
(C) =19 a1
(D) = Fom
(E) 99 =mE

i BRI o e =i i e L T e PR
[Question ID = 1789][Question Description = 159_79_Visual_Art_SEPT22_Q59]
1. (A). (C) and (D) enly
=4 (A). (C) & (D)

[Option ID = 7153]
2. (A), {B) and (D) only

Fa= (A). (B) & (D)

[Option ID = 7154]
3. (A).(C) and (E) only

Fae (A). (C) & (E)
[Option ID = 7155]

4. (A), (B) and (E) only
Fa (A), (B) & (E)

[Option ID = 7156]

60) Somnath Hore was a famous
(A Wrtter
(B) Painter
() Print maker
(D) Photographer
(E) Sculptor

Choose the correct answer from the options given below :

(A) EF
(B) "=
(C) Torw

(D) FEETHE
(E) T
= fom ww w4 9 55 39 F 999 S

[Question ID = 1790][Question Description = 160_79_Visual_Art_SEPT22_Q60]
1. (B), (C) and (E) only



2.

3.

4.

#Fa5 (B). (T) & (E)

[Option ID = 7157]
(A), (B) and (C) only

e (A), (B) & (O

[Option ID = 7158]
(B), {(C) and (D) only

a4 (B). (C) & (D)

[Option ID = 7159]
(A}, (C) and (E) only

F47 (A), (C) & (E)

[Option ID = 7160]

61)

“Aneel of the North” the monumental sculpture opened 1in 1998 1s

(&)
(B)
(©
(D)
(E)

made in Iran

made by Antony Gormley
made by Jeff Koons
made in steel

made in Terracotta

Choose the correct answer from the options given below :

a9 19983 FgF USe WiE T A T 5 & 56 § H 3 F5 T8 27

(A) FEH E R E

(B) = gHl T G WAE T A6

(C) = &5 5W1 9916 T 41

(D) =7 T AT W A U A

(E) =% 2iriar O 5 TE AR

= fom e e B O o T =9 b

[Question ID = 1791][Question Description = 161_79_Visual_Art_SEPT22_Q61]
(E) and (C) only

1.

2.

3.

4.

=7 (E) & (C)

[Option ID = 7161]
(B) and (D) only

Fa+ (B) & (D)

[Option ID = 7162]
(E) and (D) only

a4 (E) & (D)

[Option ID = 7163]
(A) and (C) only

FaE (A) & (C)



[Option ID = 7164]

62) Ramkinkar Baij was a famous Indian
(A) Seulptor
(B) Profeszor
(C) Dancer
(D) Art historian
(E) Painter

Choose the correct answer from the options given below :

THMEE A g WA ———————— 3|
(A)y  giEw

(B) HEATTE

(C) A%

(D) FeAI-siaEEET

(E) T

BT B HURIUA B 6 o e o= e T A O F 7 [ 1L

[Question ID = 1792][Question Description = 162_79_Visual_Art_SEPT22_Q62]
1. (@), (B) and (A) only

Fa (C). (B) & (A)

[Option ID = 7165]
2. {A), (B) and (E) only

4+ (A). (B) & (E)
[Option ID = 7166]
3. (D), (E) and (B) only
Fad (D). (E) & (B)
[Option ID = 7167]
4. (A). (B) and (C) only
Fg (A). (B) & (C)

[Option ID = 7168]

63) Naum Gaho's sculptures were more

{A) Construction based

(By  Monumental in nature

(@) Relevant to industriahised culture
(D) Connected and influenced by nature

(E) Kinetic in nature

Choose the correct answer from the options given below :



(A) =AW sETE A

(B) = T=ET TOEEE

(D) Wi | HEw #A w4
(E) 7 wia o= A

H= o U el B 9 HA I R 999 HOA

[Question ID = 1793][Question Description = 163_79_Visual_Art_SEPT22_Q63]
1. (A). (C) & (E) only

FA5 (A). (C) & (E)

[Option ID = 7169]
2. (B).{(C) & (D) only

Fa9 (B). (C) & (D)
[Option ID = 7170]
3 (A) & (E) only
a9 (A) & (E)

[Option ID = 7171]
4 (A). (B) and (C) only

Fa= (A), (B) & (C)

[Option ID = 7172]

64) Devi Prazad Roy Choudhury was famous for his

1A) Bronze sculpture

(B) Monumental sculpture

() Miniature painting

(D) Steel sculpture

(E) Pata chitra painting

Choose the correct answer from the options given below :

== wEE, T = e e w47

(4) FE=EEA
(By M HA
(C) =g =4
D) W

(E) wmf=w=

A= Tau o faseeal B H WA = 1 =S4 A

[Question ID = 1794][Question Description = 164_79_Visual_Art_SEPT22_Q64]
1. (C) & (E) only

Fa4 () & (E)



2.

3.

4.

[Option ID = 7173]
(C) & (D) only
F=7 (C) & (D)

[Option ID = 7174]
(A) & (B) only
Fa (A) & (B)

[Option ID = 7175]
(D) & (E) only
Fa3 (D) & (E)

[Option ID = 7176]

65) Which sequence option is wrong below : based on the melting point orderis concern

{4)  Tin. Lead, Zinc. Aluminium

(B) Bronze. Brass, Copper. Stainless Steel
(C) Lead. Brass. Tin. Bronze

(D) Brass, Tin. Stainless Steel, Lead

(E)  Zine. Aluminium. Bronze. Brass
Cheoose the correct answer from the options given below :
TATF (GEO ) FEEAR FEIEA § @ A =@ 95 T
(& Tz, ofmn, w5, weaiais
B) ==, dined, 99, 2 2
(Cy =, da=, =, =

¥ for 0 e # 7 W = W o= S

[Question ID = 1795][Question Description = 165_79_Visual_Art_SEPT22_Q65]

1.

2.

3.

4.

(A) & (B) only

#a (A) & (B)
[Option ID = 7177]

(C) & (D) only

F49 (C) & (D)

[Option ID = 7178]
{A) & (E) only

Fa7 (A) & (E)

[Option ID = 7179]
{B) & (E) only

Fge (B) & (E)

[Option ID = 7180]



66)  Alatch List I with List IT -

TistI ListII
(A) Botticell (i  Virgin of the Rocks
{B) Leonardo da Vinei (I} Birth of Venus
(C) Raphael (TIII) Trbute Money
(D) Massaceio (IV) Desputa del Saeramento

Chaose the correct answer from the options given below :

FH-IF w12 F gei-1L foerm i

=T T
(A) =iz () &t A T T
(B) o et & == (II) =9 =% ===
(C) TEm= (1) Tz=ge =
(D) wET=EH (V) T==2 == "

Frg for T et § & T 3w = A

[Question ID = 1796][Question Description = 166_79_Visual_Art_SEPT22_Q66]
1. (ARIV). (B)-(II). (C)~(ID). (D)D)

[Option ID = 7181]
2. (AnD. (B)-AID, (C)-(IV). (D)-(IID)

[Option ID = 7182]
30 (AWIID, (B)-IV). (O)-«ID). (D)-(I)

[Option ID = 7183]
4. (AID. (B)-(D). (O)-(IV). (D)-(IIL)

[Option ID = 7184]

67) Match List I with List IT :

List I List IT
{A) James Fergusson (I}  Survey of Indian Sculpture
(B) V.S.Agarvala (IT) History of Indian and Eastern Avchitecture
(C) E.B.Havell (III) Indian Avt
(D) S.K Saraswatl (IV) The Art Heritaze of India

Choose the correct answer from the options given below :



1 T = G-I e i

THI-1 11T
(&) = A () | 3 3eE e
(B) Hod. mmEe (II) == =i sf=9q Us 22 Aieen
(C) =z FEe (L) zf== =7
(D) THF. A (IV) & ¥ =ies 4AF sfe=a

= fom m femel @ 5 oA == i

[Question ID = 1797][Question Description = 167_79_Visual_Art_SEPT22_Q67]
T (A)IV). (B)-(I1). (C)(I). (D)-(IID)

[Option ID = 7185]
2. (Ay(TY. (B)-(II). (C)-(ITD), (D)«IV)

[Option ID = 7186]
3. (A)-(ID), (B)-(TID), (Ci-(IV), (D)-(D)

[Option ID = 7187]
4 (A)(IID. (B)-(IV), (C)-(II). (D)D)

[Option ID = 7188]

68) Match List T with List I ;

List T Last IT
{A) Chittara (I} Orissa
{B) Kalamkan (Il Maharashtra
(C) Wark (III) Andhra Pradesh

(D) Anagara Pata (IV) Karnataka

Choose the correct answer from the options given helow :

T=i1-1 % w14 %1 gAI-I1 e =i

=1 =111
(A) Tamm I IS
(B) Tl (II) ==FTe
(€)==t (III) == e
(D) ¥FE W (IV) =Tz

4= fou m oo 8 § HE I w99 S

[Question ID = 1798][Question Description = 168_79_Visual_Art_SEPT22_Q68]
1. {A)IV), (B)-(IIL. (C)-(I0). (D)-(I)

[Option ID = 7189]
2. (A)-(IID). (B)-(IT), (C)-(I). (D)-(IV)



[Option ID = 7190]
300 (A)-(ID). (BI-(T), (C)-(IV). (D)-(IIT)

[Option ID = 7191]
4. (A, (B)-(IV). (C)-(I1I), (D)-(I)

[Option ID = 7192]

69) Match List T with List I -

List I List II
{A) Haphael (Ii The Massacre of Chios
(B) Delacroix (II) The Return of the Prodigal Son
(C) Ingres (III}) The Marriage of the Virgin

(D) Rembrandt (IV) The Valpincon Bather

Choose the correct answer from the options given below !

-1 F Ay = FE-1 e i

w1 -0
(A) TEmHA (I) = 9TEm 37
(B) mEmAE (I) = 0% © wi=Te 59
() = (III) = ®iTH 3ATF 5 =G
(D) 7= (IV) = F=iaaT st

4= fon o ot B A o 3 o == i

[Question ID = 1799][Question Description = 169_79_Visual_Art_SEPT22_Q69]
T (A)IV). (B)-(ID). (C)4(IID), (D)D)

[Option ID = 7193]
2. (Ay(ID. (B)-II). (C)-(T). (D)-(IV)

[Option ID = 7194]
30 (AVIID), (B)-(D). (C)«(IV). (D)(ID)

[Option ID = 7195]
4 (A)D. (B)-IV), (C1-(ID), (Dy-(I1D)

[Option ID = 7196]



70)  Match List T with List IT -

List 1 List IT
Companyv Maszcot
(A) AirTIndia (I Appu
(B) Asian Games (I} Crocodile
(C) Lacoste (II1) Panda
(D) WWF {(IV) Maharaja

Choose the correct answer from the options given below :

-1 WY 1 -1l e Firw
T .11
(A) T sfEm (I =9
(B) T = (I} FrF=E=
(C) TR (IID) =T
(D) ==gs=9v% (IV) #Hzuran

T L e R S e e 0 (e o B L

[Question ID = 1800][Question Description = 170_79_Visual_Art_SEPT22_Q70]
T (A)AIV), (B)-(I). (C)-(IL), (D)-(IIT)

[Option ID = 7197]
2. (A, (B)AIV). (C)-(III). (D)-(ID)

[Option ID = 7198]
3.0 (AAID. (B)-(D). (C)-{IV). (D)-(IIT)

[Option ID = 7199]
4 (A)ID). (B)«T). (C)«ID). (D)-(IV)

[Option ID = 7200]

71)  Match List I with List IT

ListI List IT
Advertising Agency Creative INrecior
(A) Swati Bhattacharva (I) West Ogilvy India
(B) Vikram Pandey (II) FCB Ulka
{(C) Amit Akalh (ITT) Leo Burnett India
(D)) Sukesh Nayak iIV) Wunderman Thompson

Choose the correct answer from the options given below :



-1 5 =1 1 =11 fgam o

45 T

(A) == 9EEE (@) == Al 3=
(B) Ta#w o=3 (IT) =TT 7

(O) w3 ST (I) femt sz Sisar
(D) e T=E (IV) T=7Ha 2

T B L e e e R i Bt e e 1 L

[Question ID = 1801][Question Description = 171_79_Visual_Art_SEPT22_Q71]
T (A-ID. (B)-(D). (C)-(IV). (D)-(IID)

[Option ID = 7201]
2. (A, (BIAID), (C)-(II). (D)-(IV)

[Option ID = 7202]
3. (AIV). (BYAID. (C«I). (D)-(D

[Option ID = 7203]
4. (A)AII). (B)-(III). (C)-(IV). (D)-(T)

[Option ID = 7204]

72)  Match List I with List I :

List I List IT
{A) Hokusai (Iy  Viscosity
{B) Albercht Durer {IT}) Lithegraph
(C) William Hayter (III) Engraving
(D) EKathe Kollwitz (IV) Woodblock print

Choose the correct answer from the options given helow :

T1-1 % =4 1 gi-11 e it
Tl T-IT
(A) FrEEmE @M TR
(B) =iz =9 (I) g
(C) oo == (IIT) ZafEm
(D) =Y FAgZd {IV) T5ATh e
= fon m faweT § 9 T = W =9y e

[Question ID = 1802][Question Description = 172_79_Visual_Art_SEPT22_Q72]
T (A)IV). (B)-(TID), (C-(IT), (D)D)



[Option ID = 7205]
2. (A)@V). (B)AID). (C)«(T). (D)-(I1T)

[Option ID = 7206]
3. ATV, (B)-(IID. (C)-(D). (D)-(ID)

[Option ID = 7207]
4 (AIV). (B)«(T). (O)-(ID). (D)-(I1D)

[Option ID = 7208]

73)  Mateh List I with List IT :

TastI ListIT
(A) Gum-etch (I} Serigraphy
(B} Mesh (ITy Etching
(C) Dutch mordant (I} Lithography
(D) Graver (IV) Engraving

Choose the correct answer from the options given below :
1.1 % W 1 g1 W i

-1 -1
(&) TH T @  afE
(B) == (ID  wi=m
(C) == wmEe (III) Toamr

(D) (IV) =mEm

= fo0 v e | 9 "3 39 F 99 S

[Question ID = 1803][Question Description = 173_79_Visual_Art_SEPT22_Q73]
T (AT, (B)-(T). (C)-(ID). (D)«IV)

[Option ID = 7209]
2. (A)(TID). (B)-(IT). (C)-(T). (D)-(TV)

[Option ID = 7210]
3. (A4, (B)-AV), (C)-(ID. (D)-(D)

[Option ID = 7211]
4 (AL, (By-(I). (C)-(TV), (D)-(IL)

[Option ID = 7212]



74)  N\atch List T with List 1 :

ListI Li=t IT
{A) Ramkinkar Baij (I Bnde
(B) Pradosh Dasgupta (I} Santhaal familv
(C) P.Pochkhanawala (III) Fhght
(D) Chintamani Kar (IV) Erocsion

Choose the correct answer from the options given below :

1% T 1 g0 e Hifam
-1 THI-I1
(A) TR EF M T (wss)
(B) T GEIET (II) |4 9=
(C) i, T (IID) 35/ (F1s2)
(D) Taamm Fw (IV) =

4= f5u T el § W HE 39 9 994 S

[Question ID = 1804][Question Description = 174_79_Visual_Art_SEPT22_Q74]
T (AT, (B)-(IV). (C)-(ID). ¢D)-(T)

[Option ID = 7213]
2. (A)(IL). (B)-(III). (C)-(IV). (D)-(I)

[Option ID = 7214]
3. (A, (B)-I). (C)-(IV). (DY(IID

[Option ID = 7215]
4 (A)-(IV). (B)-(I), (C)«(IID). (D)-(ID

[Option ID = 7216]

75) Matech List T with Li=t 11 -

ListI List IT
(A) City square (I) Picasso
(B) Monument of Balzac (I Brancus1
(C) The glass of Absinthe (ITT) A. Giacomnettl
(D) Golden Bird (IV) Raodin

Choose the correct answer from the options given below !



L1 F W g1 foee i

T T

(A) Tod = (I ToEm

(B) HHHZ A% SeAF (I SFE

(C) = Ta™ = vfea4 (I @, Tamre=id
(D) wTe=a o= (IV) 7=

= Tou T T B | HE I R 9E i

[Question ID = 1805][Question Description = 175_79_Visual_Art_SEPT22_Q75]
1. (A)(IV), (B)-(II0), (C)-(I), (DH-(IT)

[Option ID = 7217]
2. (A)(TID). (B)-(ID), (C)-(IV). (D)H4T)

[Option ID = 7218]
3. (AL (B)-(ID. (C)-(IV), (D)-(IID)

[Option ID = 7219]
4 (A)-(IID). (B)-(IV). (C)-(D), (D))
[Option ID = 7220]

76) Choose the correct chronolegical sequence of the famous monumental Gates of India

(&)  India Gate

(B) Buland Darawaza

(Q) Dalkhil Darwaza

() Teen Darwaza

(E) Alal Darwaza

Choose the correct answer from the options given below |
G o EENG WHg T gHl S FEEAEET AE B § S -
4 =
(B) EGEAREIE]
(€) whem waEmn
(D) A TE

(E) =797 o ra

4= By T T § 9 9 I & 999 F0



[Question ID = 1806][Question Description = 176_79_Visual_Art_SEPT22_Q76]
1. {E). (D). (A). (). (B)

[Option ID = 7221]
2. (A), (B). (E), (D), (C)

[Option ID = 7222]
3. (A (0, (B). (D). (E)

[Option ID = 7223]
4 (E) (D). (C). (B). (&)
[Option ID = 7224]

77)  Choose the correct lateral part of the Kandariva Mahadev Temple at Ehajuraho

(4A) Mahamandapa
(B) Ardhamandapa
(0) Garbhagrha
(D) Antaral

(E) Mandapa

Choose the correct answer from the options given below :

AR F i d HETed HioT 6 UieAd (el W e #H § o -

(A) =EEEd

B) =5 1

€ TR
(D} Eren T o
(E) #=49

i fon T el B W MR 30 R =9 i
[Question ID = 1807][Question Description = 177_79_Visual_Art_SEPT22_Q77]
1. (A). (B). (C). D), (E)

[Option ID = 7225]
2. (EY (D) (C), (B). (A)

[Option ID = 7226]
30 (AL M (O (BL(E)



4.

[Option ID = 7227]

(B). (E). (A), (D), (T

[Option ID = 7228]

78)

Choose the correct chronological sequence of the following art works —

(A) The Pazsing of Shah Jahan

(B) Astazahasrika-prajnaparamita
(C)  Rechning Nair Lady

(D)  Avalokiteshwara

(E) Babur Nama

Choose the correct answer from the options given below :

(A) T aIET ATE A

(B)  stomfasr — wemeEan

(C)  ToFemmsim e =

(D) A==l

(E) == AT

g foo v Tawedt @ 9 w4 I 9 999 Filew

[Question ID = 1808][Question Description = 178_79_Visual_Art_SEPT22_Q78]

1.

2.

3.

4.

(E). (C). (A). (D). (B)

[Option ID = 7229]

(D). (B). (E). (Th (A)

[Option ID = 7230]

{(C). (A), (D). (B (E)

[Option ID = 7231]

(B). (E) (C). (A) (D)

[Option ID = 7232]



79)

Choose the correct chronological sequence of the following paintings —

{A)  Guernica

(B) Bharat Mata

(Cy  Mother India

(D) Woman with a Para=scl

(E) Liberty Leadinig the People

Choose the correct answer from the options given below :

i - _r [ = . Y
TG (S # Jal HiaFd & AFA0 70

(A)

(B)

(C)

(I

{E)

[

T
AT

] HitsT T o

= Too o fawedl § O OF 39 W =94 HiEn

[Question ID = 1809][Question Description = 179_79_Visual_Art_SEPT22_Q79]
(D), (B), (A). (C). (E)

1.

2.

3.

4.

[Option ID = 7233]
(B). (A), (C), (E). (D)

[Option ID = 7234]
(A). (C). (E)..(D). (B)

[Option ID = 7235]
(E), M), (BY. (A), (C)

[Option ID = 7236]



80) Axrange the following communication In sequencial manner.

(A)  Visual communication
{B)  Verbal communication
(C)  DMultimedia communication
D) New media communication

(E) Audio-Visual communication

Choose the corrvect answer from the options given below :

TH=TEaTET J@UEeT F 39F FF T
(&) 779 T

(B) =it Tl

(C) =iz Hitsan duem

(D) = T =

(E)  g=-773 7

= fom e e § 9 HE 3w 959 R

[Question ID = 1810][Question Description = 180_79_Visual_Art_SEPT22_Q80]
1. (C). (B). (A). (D). (E)

[Option ID = 7237]
2. (E). (A). (D). (C), (B)

[Option ID = 7238]
3. (B). (A, (E). (C). (D)

[Option ID = 7239]
4. (A), (B), (C). D), (E)

[Option ID = 7240]



81) Select the correct sequence of machine used in print making :
{A) Etching press
{Bi Litho press
(C)  Routing press
(D) Off-set press
(E) Block printing press
Choose the correct answer from the options given below :
2 T | W HI0 T HE F o
(A)  ufamuam
(B) o
(C)  TEEm T
(D) =" Um

(E) =% Tz v

4/ fon 7o T § O TE I F =99 S

[Question ID = 1811][Question Description = 181_79_Visual_Art_SEPT22_Q81]
1. (E) (B). (C). (A). (D)

[Option ID = 7241]
. (E). (&), (B (C). (D)

[Option ID = 7242]
3. (E) (B (AL (O, (D)

[Option ID = 7243]
4 (En (A, (B @) (O

[Option ID = 7244]



82)  Select the correct steps in Lithosraphy printing :

(A) Cleaning
(B} Drawing
() Graimning
(D) Gumming

(E) Printing

Choose the correct answer from the options given below ;

Terermars Tofzn @ =8 %0 F1 =951 w0
(A  fEEEm

B) sz

(Cy T

(D) i

(E)  Talm

= fov e faFedl § ° "2 I R =994 S

[Question ID = 1812][Question Description = 182_79_Visual_Art_SEPT22_Q82]
T (A). (C), (D). (B). (E)

[Option ID = 7245]
2. (A), (B). (C). (D), (E)

[Option ID = 7246]
3. (A (). (B). (D). (E)

[Option ID = 7247]
4 (A, (D). (C). (B). {E)

[Option ID = 7248]



83) Belect the correct steps in wood cut printing :
(A) Carving
(B} Drawing
() Rolling ink on hlock
(D) Impression on paper

(E) Rubbing with spoon

Choose the correct answer from the options given below ;

= F2 e & FE w0 H w4

(&) AT
(B) 3

(D) FTA I E
(E) =r== 9 T7E
1= fou v e | O wE I S = A
[Question ID = 1813][Question Description = 183_79_Visual_Art_SEPT22_Q83]

1. (A). (B (C). (E). (D)

[Option ID = 7249]
2. (B). (A). (C). (E). (D)

[Option ID = 7250]
3. (B). (A). (E). (D). (C)

[Option ID = 7251]
4 (A (B). (C). (D). (E)

[Option ID = 7252]



84)  Choose the correct chronology from the following :

(A) Michelangelo
(B) Jeff Koons
(C)  Pieasso

()  Redin

(E) Naum Gahbo

Choose the correct answer from the options given below :
FEEA | HE e g

{4‘%; II :']JE:' ‘?:;J!F%I

(B) A% FH
Q) o
(D) T

(E) =9

/= Tou T T § W HE I W =9 FIE

[Question ID = 1814][Question Description = 184_79_Visual_Art_SEPT22_Q84]
1. (D). (A). (B). (C). (E)

[Option ID = 7253]
2. {A), (D). (©). (E). (B)

[Option ID = 7254]
3. (A (). (D). (E) (B

[Option ID = 7255]
4 (A). (D). (E). (B) (©)

[Option ID = 7256]



85) Choose the chronology of the cire purdue process in connection to the materials written

below :

(A) Wax
(B) Luto
() Clay
(D) Bronze
(E) Plaster

Choose the correct answer from the options given below :

Aot woid F w2 ° TR 9% R i FemeEan SEfeE fi
EVI )

B &

()

(D) w=

(E) T

BB U G o ot e (= i e e 0 ez oo e 31 = Ll
[Question ID = 1815][Question Description = 185_79_Visual_Art_SEPT22_Q85]

1. (A), (B). (C). (D), (E)

[Option ID = 7257]
2. (C). (E)(A) (B). (D)

[Option ID = 7258]
3. (E)(C) (D), (A). (B)

[Option ID = 7259]
4 (OB (M), (A). (E)

[Option ID = 7260]
86) Given below are two statements :

Statement I : Barogue art mainly emphasised on emotional appeal by using contrast

chiaroscuro and dvnanism in forms.
Reazons (R) : Baroque art was far removed from human 1deals re-estabhshed during the

renaiszance,

In the light of the above statements, choose the most appropriate answer from the options

ziven below :



BB T G g

o R e ot s e B B B e b e 2 e B o e 1 e D e B e [ i e e

EAfC e R TR o

FoF IL: PR F AR RS (R T G- O W e a5 o

TE FOA AR H, A e | e S99 S,

[Question ID = 1816][Question Description = 186_79_Visual_Art_SEPT22_Q86]
1. Both Statement I and Statement II are correct
Fo I 3 1121 |2 7

[Option ID = 7261]
2.  Both Statement I and Statement IT are iticorrect

Foa 1 31 I 21 7o 7
[Option ID = 7262]
3. Btatement I1s correct but Statement II is Incorrect
Foa 197 2, @ 94 [ 7= 7
[Option ID = 7263]
4. Btatement I is incorrect but Statement IT is correct
T 17 2, ST Fee 1L e 7

[Option ID = 7264]

87) Given below are two statements : One iz labelled as Assertion A and the other is labelled as

Reaszon R.

Assertion (A) : Chitrakathi artists are a community of migrating visual storyvtellers found
all over Maharashtra and some parts of Andhra Pradesh and Karnataka,

Reasons (R) : Chhatrapati Shivaji revived this traditional art form. honoured the artists

and showeased them to the world.

In the Light of the above statements. choose the most appropriate answer from the options

ziven below :



e = e fou o # vk sifeEEA (Assertion (A)) % 9 ® feiliga 2 A1 gAnl 39 #AW (Reasons (R))

FEGH
HAHET (A) : Al F=W g9 S99-F1 S9F Fl UF BOEE 2 9 [ BAEE B S sngnes
FA1 FAlZF B TS wEE ° A0 A A

ST FOE F A °, A T EEeT 8 F w99 I = e

[Question ID = 1817][Question Description = 187_79_Visual_Art_SEPT22_Q87]
1. Both (A) and (R) are true and (R) 12 the correct explanation of (4)

(A) A1 (R) =17 Te9 7 a7 (R), (&) F o =men 3

[Option ID = 7265]
2. Both (A) and (R) are true but (R) is NOT the correct explanation of (4)

(A) 3W (R) 1 921 7, =4 (R), (A) 1 981 =2v=1y 71 7
[Option ID = 7266]
3. {A)1s true but (R) iz false
(A) |@= 2, =% (R) 597 &

[Option ID = 7267]
4 (A) 1z false but (R) is true

(A) 57T 2, 906 (R) 379 7

[Option ID = 7268]

83)  Given below are two statements : One is labelled as Assertion A and the other is labelled as

Reason R.
Assertion (4): A lozo 1= the strong visual representation of hranding a company.
Reasons (R) : In most of the eases the company branding is not focused on Logo.
In the light of the above statements, choose the most appropriate answer from the options
given below :

4= 71 T Bu o 2 . T 9I9HTA (Assertion (A)) F ETH THEA B Al 20| 3% FW0 (Reasans (R))

FETY ;

FoF 1 UF w1 FET H A O T e e 2

T IL:  SATHE OiEAl 3 91 e A0 W HEiea Aa w2

TRTH A F AR 9, A 150 W {0 S S S o =0 S



[Question ID = 1818][Question Description = 188_79_Visual_Art_SEPT22_Q88]
1. Both (A} and (R) are correct and (R) is the correct explanation of (A)

(A) ¥ (R) = @81 & 30 (R). (A) =1 =¥ =me 2

[Option ID = 7269]
2. Both (A) and (R) ave correct but (R) iz NOT the eorrect explanation of (A)

(A) 3R (R)ZH1 781 B, = (R). (A) F1 w81 == 781 2

[Option ID = 7270]
3. {A)1s correct but (R) is not correct

(A) 57 2, o5 (R) 571 =1 &

[Option ID = 7271]
4. (A) iz not correct but (R) is correct

(A) T 97] 7, AT (R) &T#1 2

[Option ID = 7272]
89) Given helow are two statements

Statement I :  Those who are good at teaching may be good artists. But all artists are

not good teachers.
Statement 11 :  Teaching Visual Avts invelve good slkills but may not be conducive to
achieve mastery.
In the light of the above statements. choose the most appropriate answer from the options
ziven below :

Bl Rl o e

Huq 1.  UH =R S e § o0 2. d U g0 SewE Bl 0Fd & W OM e OF 959 e

FA I : 579 A & A 3 e A 2 & o T% 398 HI0E) 0 e e

T U AT °, AT T T e A A wsE S I A = i

[Question ID = 1819][Question Description = 189_79_Visual_Art_SEPT22_Q89]
1. Both Statement I and Statement IT are correct

w4 I3 [ 51 &9 7
[Option ID = 7273]
2. PBoth Statement I and Statement IT are incorrect
e 1 e AT e 3

[Option ID = 7274]
3. Btatement I 1z correct but Statement II is incorvect



F79 15 B, =i Fod 1L 98— 7

[Option ID = 7275]

4. Statement Iis incorrect but Statement T ie correct

o 1 309 2, #ia %o LA 7

[Option ID = 7276]
90)  Given below are two statements :

Statement 1 : 5. Nandgopal the Indian sculpturve was a student of Govt. College of Avt
and Craft. Chennal. He was influenced by the South Indian Temple

zopurams from his early days.

Statement IT : That iz why large =ized sculptures are the infusion of moedern
techmigues. sometimes found metal objects and ancient Indian religious

images, forms and themes,

In the hght of the above statements, choose the most appropriate answer from the options

ziven helow :

fRasmEmE:

Fo [:  HEAE giawE E, A TEAE2 wers A A2 U T wwE F Hendl 4] F w5 a9
F oAl 9 Bl BiA 9w Bieg T H TEiE 9|

FA I: T B0 91 F E 4O g g 9gEE a1 [ew 2 s w5 w2 aifes
ATITT=R] A T S i e, e s w5 () 8 g e 2

SUTE FEA F AR B, A 50 T e § # Ged S0 S w9 A

[Question ID = 1820][Question Description = 190_79_Visual_Art_SEPT22_Q90]

1. Both Statement I and Statement II are correct

oA I3 1129 =5 2
[Option ID = 7277]
2. Both Statement I and Statement II are incorrect
Fo1 [ =1 LM 779 &

[Option ID = 7278]

3. Statement I is correct but Statement IT is incorrect

w0 101 &, o F29 [Led 7

[Option ID = 7279]

4. Statement [ 1 incorrect but Statement 11 iz correct
FoA 1A 7, A0 wee [LEA 2

[Option ID = 7280]

Topic:- 079_PARTB_S1



) Instructions for Q. 91-95.

Instruetions for Q. 91-95.

What is the title of this painting?

TH G123 T SH A B 7

[Question ID = 1821][Question Description = 191_79_Visual_Art_SEPT22_Q91]
1. Qath of the Commander

AT ATFH T FHEL

[Option ID = 7281]
2. Qath of the Horati

1 =TF T A



[Option ID = 7282]
3. Challenge of the Horatii

e e e

[Option ID = 7283]
4. (all of War

[Option ID = 7284]

2)  Instructions for Q. 91-95.

Instruetions for Q. 91-95.

Who was the painter of this painting?



= T =7 =3 T E

[Question ID = 1822][Question Description = 192_79_Visual_Art_SEPT22_Q92]

1. Eugene Delacroix

T SETEE
[Option ID = 7285]
2. Jean Ineves

=11 TH
[Option ID = 7286]
3. Jagues Luis David

[Option ID = 7287]
4 Gericautt

[Option ID = 7288]

3)  Instructions for Q. 91-95.




Instruetions for Q. 91-95.

What 12 the medium of this painting?

=9 == = qEaE R

[Question ID = 1823][Question Description = 193_79_Visual_Art_SEPT22_Q93]

1. 01l on wooden panel

TS YA 9 A T

[Option ID = 7289]

2. Dil on canvas
[Option ID = 7290]
3.

TE‘]JJ}]E'I‘G on canpvas
FAE 9 THET

[Option ID = 7291]
4. Enecaustic on wooden panel

[Option ID = 7292]



4 Instructions for Q. 91-95.

Instruetions for Q. 91-95.

Which stvle of western painting does it represent?

[Question ID = 1824][Question Description = 194_79_Visual_Art_SEPT22_Q94]

1. Mannerism

o

]:-:-f F=H

[Option ID = 7293]
2. Barogue

[Option ID = 7294]



3. Renaissance

[Option ID = 7295]
4. Neo-clagsicism

TF-TEATR

[Option ID = 7296]

%) Instructions for Q. 91-95.

Instruetions for Q. 91-95.

What type of architecture is visible in the hackground?

=F qlg"q{:r T T T T i



[Question ID = 1825][Question Description = 195_79_Visual_Art_SEPT22_Q95]
1. Byzentine

=

IS

[Option ID = 7297]
2. Romanesgue

T

[Option ID = 7298]
3. Gothie

o i i

RIS

[Option ID = 7299]
4. Roman

T
[Option ID = 7300]

Topic:- 079_PARTC_S1

1) Instruetions for Q. 96-100.




Instructions for Q. 96-100.

Whe is the sculptor?
[Question ID = 1826][Question Description = 196_79_Visual_Art_SEPT22_Q96]
1. Shilpa Gupta
e T
[Option ID = 7301]
2. Bharti Kher

[Option ID = 7302]
3. Subodh Gupta

[Option ID = 7303]
4. Anish Kapoor

FHTET T

[Option ID = 7304]



2) Instruections for Q. 96-100.

What is the title of this sculpture?

[Question ID = 1827][Question Description = 197_79_Visual_Art_SEPT22_Q97]
1. Cloud Gate

FEATIZ TTE

[Option ID = 7305]
2. Indian Bean

[Option ID = 7306]
3. Mercury Gate

[Option ID = 7307]
4. (Cloud Bean



FATIE A

[Option ID = 7308]

3) Instruections for Q. 96-100.

Where 1t 1= located?

[Question ID = 1828][Question Description = 198_79_Visual_Art_SEPT22_Q98]

1. London

-:J.:[
[Option ID = 7309]
2. Paris

e

"R

[Option ID = 7310]
3. Chicago



[Option ID = 7311]

4. Newyork

r

& RIE

[Option ID = 7312]

4) Instructions for Q. 96-100,

What 1= the medium of this wark?

=0 F ] =] A 27
[Question ID = 1829][Question Description = 199_79_Visual_Art_SEPT22_Q99]
. Fibre Glass
FIEET T
[Option ID = 7313]
2.  Stainless steel

[Option ID = 7314]



3. Conerete
[Option ID = 7315]
4. (Glass
=S

[Option ID = 7316]

5) Instructions for Q. 96-100,

Which vear it was installed?

= T 99 w=iea T e

[Question ID = 1830][Question Description = 200_79_Visual_Art_SEPT22_Q100]
- 2006

[Option ID = 7317]
2 2002



[Option ID = 7318]

3. 2010

[Option ID = 7319]

4. 1998

[Option ID = 7320]

Topic:- GP_29SEPT22_SH2_S1_A

1)
The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G 1n the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:
School-wise Ihstribution of Qualified Students
School Distrbution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%
FrerEs A 8 @9 2020 3 2021 ¥ A-G O e @ wEe wien 8 S5 i i wen F

farewen 1 WiEwE (%) TanEn A 2| e G #2020 A 2021 § FHl el i deE w90 #Hi
135 3| AR B S F HGRE W OO L-5 F 39 S0
ST TAEnEET T AW T

feemea ST TR O EA (%)

2020 2021
A 1% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 158% 16%
F o 13%
G 12% 15%

The percentage of the number of students gualifving from Schools A-G together in 2021 with
reference to 2020 1=

2020 F1 T H 2021 F A-G et @ 60 B et i e w5 g e 2

[Question ID = 2586][Question Description = 101_00_General_21_SEPT22_Q01]

1.

2.

3.

4.

140%

[Option ID = 10341]
120%

[Option ID = 10342]
135%

[Option ID = 10343]
112%



[Option ID = 10344]

2)
The following table shows the percentaze (%) distribution of number of students qualifving an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table. answer the gquestions 1-5:

School-wise Distribution of Qualified Students

School Distrbution (%) of Qualified students

2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%

FAtEEE Ao B a9 2020 39 2021 § A-G O e @ = whE 8§ 3= fEmiaat i w3 F
T 1 WETE (%) ToE T ) e Go# 2020 A 2021 § FH e 6w e 90 H
135 3| AR B S F HERE W OO L-5 F 39 ST

ST e 1 EEEE A

e ST TR 1 EA (%)

2020 021
A 1% 23%
B 14% &%
C 16% 11%
D 10% 14%
E 158% 16%
F 8% 13%
G 12% 15%

The percent rise in the number of students gqualifving from School D from 2020 te 2021 1s

£

99 2020 © 2021 ¥ foenem D & sl et 9= 4 ey afoee afs =2 20

[Question ID = 2587][Question Description = 102_00_General_21_SEPT22_Q02]

1. G0 %
[Option ID = 10345]
2 63%

[Option ID = 10346]
3 68%

[Option ID = 10347]
4 72%

[Option ID = 10348]



3)
The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the questions 1-53:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 19% 15%
TrAleEE Ao B oad 2020 39 2021 F A-G e e 8 w"e wiaEr 8 S| fEmniea § e #

T =1 wiaeE (%) SomE T ) e G #2020 AW 2021 § IH e i wween wee 90 Hi
135 2| AT ® =19 % WUE W WA -5 F I e

— ST i A (%)

2020 021
A 21% 23%
B 14% 8%
C 1G% 11%
D 10% 14%
E 158% 16%
F 8% 13%
& 12% 15%

Number of student qualifving from Schools E and G together in 2020 is % of the

number of students gqualifving from Schoeol B in 2021,

e E ot G & 2020 § 3wt frenfie & oo @ faaem B & 2021 § s+l fenfdar & e w5
fepee wirerm 2 7
[Question ID = 2588][Question Description = 103_00_General_21_SEPT22_Q03]
1. 1885
[Option ID = 10349]
2. %47h
[Option ID = 10350]
3 3425
[Option ID = 10351]
4 3125

[Option ID = 10352]



4)
The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the questions 1-53:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 8%
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
G 19% 15%
TrAleEE Ao B oad 2020 39 2021 F A-G e e 8 w"e wiaEr 8 S| fEmniea § e #

T =1 wiaeE (%) SomE T ) e G #2020 AW 2021 § IH e i wween wee 90 Hi
135 2| AT ® =19 % WUE W WA -5 F I e

— ST i A (%)
2020 021
A 21% 23%
B 14% 8%
(& 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
(& 12% 15%

If P and Q are the average number of students guabfying from Schools B. € and D in 2020
and from Schools E. F and G 1n 2021, respectively. then Q — P is

Tiz 7 2020 H FeneEi B, C &7 D # &R 39 2021 ¥ fo=medi E. F &0 G 8 360 i) 1 i
ﬁrq‘f : P a:ﬁj Q %, ﬂ:f Q - P ra:”'i %—,"I"
[Question ID = 2589][Question Description = 104_00_General_21_SEPT22_Q04]
1.
32

[Option ID = 10353]
2. sig

35
[Option ID = 10354]

3. 38
[Option ID = 10355]

4. 41

[Option ID = 10356]



5)
The following table shows the percentage (%) distribution of number of students qualifying an
Entrance Exam from seven schools A-G in the vears 2020 and 2021. The number of students
qualifying from School G in 2020 and 2021 are 90 and 135. respectively. Based on the data in
the table, answer the questions 1-53:

School-wise Distribution of Qualified Students

School Distribution (%) of Qualified students
2020 2021
A 21% 23%
B 14% 895
C 16% 11%
D 10% 14%
E 18% 16%
F 9% 13%
& 12% 15%
TrAleEE Ao B oad 2020 39 2021 F A-G e e 8 w"e wiaEr 8 S| fEmniea § e #

T =61 WA (%) T T 7| e GoH 2020 HE 2021 H IH0 EEEE R S w6 90 Hn
135 8| Ao ¥ =@ F 39 WO 1-5 F I A
ST TR W AW T

— ST i A (%)

2020 021
A 21% 23%
B 14% 8%
(& 16% 11%
D 10% 14%
E 18% 16%
F 9% 3%
(& 12% 15%

The ratio of the number of students qualifiing from Schools B. € and D in 2020 to that of
Schools E. F and Gin 2021 1s

et B, C @ D A 2020 § 3901 ol & gem w1 39 2021 § FEmesn B F #W GH 3

[Question ID = 2590][Question Description = 105_00_General_21_SEPT22_Q05]

123

[Option ID = 10357]
2. 51:73

[Option ID = 10358]
3 89

[Option ID = 10359]

4. 2533

[Option ID = 10360]
Topic:- GP_29SEPT22_SH2_S1_B

1)

Teacher ‘A’ uses chalk and board and dictates notes to students in elassroom. Teacher ‘B uses
Videoconferencing tool and LMS for providing digital resources. Which modes of teaching are
used by teacher A and teacher BY



SETF A FAT H A ST I (IME) T STEE FA B A B F A6 A28 o B
HATF ‘A’ H AT B FEAGH 51 i = A0 GA S 6 7

[Question ID = 2591][Question Description = 106_00_General_21_SEPT22_Q06]
1. Both online

;\-\-.,a:n;q_ ‘!r

[Option ID = 10361]
2. Both offline

[Option ID = 10362]
3. Teacher — A: online : Teacher — B ; offline

FATE AT A 54 ; J2A9E B SE TR

[Option ID = 10363]
4. Teacher — A: offline : Teacher — B : online

SEATTF A’ HATF T@EH AT B wE @
[Option ID = 10364]

2) Which of the following tools can be used for ICT enabled teaching?

WATE A A1, watia ssamE & Tou fefafan § @ 9 @ 3900 & @ S asa e v

[Question ID = 2592][Question Description = 107_00_General_21_SEPT22_Q07]

1 Paper charts

FOTS % =12 (TEEns)
[Option ID = 10365]
2. Physical models

Hifoer ufeey (Hrge)

[Option ID = 10366]

3. Projector

gerfTa (draee)

[Option ID = 10367]
4. Blaeck Board

TAR-TE

[Option ID = 10368]



3) In the context of MOOCs in Higher Education in India. which of the following are

CORRECT?

(A) Theyv are learner - centric

(B) They can be delivered only through SWAYAM portal

(C) Thev can benefit large number of learners

(D) They can be accezsed anyvtime. anywhere and any number of times.
(E) All MOOCs are for earning credit

Choose the correct answer from the options gaven below
g ¥ 3= e § AL H . F od | etoiEn 3 3 e T mE 20
(A)  F Toemefi-wiga 20 )
(B) @ %ae =99 (SWAYAM) 912 % #1999 § & U5H 0 o1 @ 2
(C) = el & foemer Tz #1 en TR wE 7
(D) = Tt | 9=, TRl §f =W W @R et df s a@fmiya 9 =1 930 2

(B) &) tH.SALALH. (MOOCs) sz dAtad #14 & Teiu 24 2l

feu 0 faeT § 1 WA 39 =1 =99 S0

[Question ID = 2593][Question Description = 108_00_General_21_SEPT22_Q08]
. A&DOnly

FFe AHEE D

[Option ID = 10369]
2. C&D Only

FAACHT D

[Option ID = 10370]
3. A B&EOnly

Fa4A BHAT E

[Option ID = 10371]
4. A C&DOnly

FATA, CHAR D
[Option ID = 10372]

4) a

Which of the following iz considered as the highest scale 1n measurement’

qre 1 T | Teafafaa & & faa gt =1 s=509 3 591 97 27
[Question ID = 2594][Question Description = 109_00_General_21_SEPT22_Q09]
. Nominal

ATHF

[Option ID = 10373]
2. Ordinal



FA-TTF

[Option ID = 10374]

3. Interval
[Option ID = 10375]

4. Ratio
HA9TT

e

[Option ID = 10376]

) In which of the following methods of teaching. the student has to find out the answer to
his/her own problem by unaided efforts?

f=ferfaa 8 0 s o feg ogfa 9 3 70 5 Tl gemm & o9 o g @ AnE g oI
IHT TS 2 7

[Question ID = 2595][Question Description = 110_00_General_21_SEPT22_Q10]

1 Case-ztudy method

T (T ) - AT

[Option ID = 10377]

2. Heuristic method

e () TR

[Option ID = 10378]
3. Fhpped classroom method

uieEta (fFeree) =em T5m

[Option ID = 10379]
4. Demonstration method

£
RLiL A
[Option ID = 10380]

6) A systematic review of literature adopts

Aifers 1 gegaren g § Fetatan 9 8 e S e 27

[Question ID = 2596][Question Description = 111_00_General_21_SEPT22_Q11]
1. Explicit procedurss

D 2 -1" ﬁ;-:

[Option ID = 10381]
2. Imphieit procedures

~ e

fafed sEgoTieT




[Option ID = 10382]
3. Personal-choice procedures

[Option ID = 10383]
4. Peer-suggested procedures

T ~TEE FAT

[Option ID = 10384]

7) A major focus in guantitative research is on

Y

HIATE W9 F THE RS MEroiE § 9 6 oA At

[Question ID = 2597][Question Description = 112_00_General_21_SEPT22_Q12]
1. Historicity

=

g L

[Option ID = 10385]
2. Causality

AL

[Option ID = 10386]
3. Social reflections

[Option ID = 10387]
4. (Creating an artificial enviromment

F 038 AT ] A
[Option ID = 10388]

) Which of the following are uzeful tips in preparing gquestions for a structured interview?

(A) Introductory questions should be related to pleasantries.

(B) Introductory questions should be related to the research topic.
(C) Questions can be grouped. if the list of questions is long.

(D) General questions should precede specific gquestions.

(E) Repeat the personal questions again and again to test the truthfulness of the reponses
of the intermewee.

Choose the correct answer from the options given helow :



HEf | & ToTU WY 9OW #RA § [Heeigg § ° FiE O 390 " 8 7
(A)  HANTHE TvH HAE AR wEw B =)
(B)  =nfgs uys oy fawg 4 F@=iya 29 =iien)

(C) A% T9H T @ B T AT F SR A 51w 2

(D)  Tm= e e wwE § @ Ee =ite)

(B)  HTEHE 54 A7 & STl o =18 o TE o (670 S 9IAT ol SH-a S|

f7u mu fasem 5 O wE I A = Fra

[Question ID = 2598][Question Description = 113_00_General_21_SEPT22_Q13]
1. A B.COnly

Fa94 A. B. C

[Option ID = 10389]
2. A C.D Only

Fa9A. C.D

[Option ID = 10390]
3. B, C.D Only

F9a B, C. D

[Option ID = 10391]
4 A D, EOnly

Fad A D. E

[Option ID = 10392]

9 Which of the following are types of error in survey research?
(A) Sample error
(B) Source error
(C) Ohservational error
(D)  Data collection ervor
(E) Data processing error

Choose the correct answer from the options given below :



=TT 3 5 F9 1 Ffea Taam e 5 a8 7

(A)  wfeea 3z

(By @M@ e

(C)  SETHEE A
(D)  S@ HEET A

(B) =/ uHw I

fou U foereml 5 & wE IR @ =AT S

[Question ID = 2599][Question Description = 114_00_General_21_SEPT22_Q14]
1. A B.COnly

Fad A. B. C

[Option ID = 10393]
2. B.C.DOnly

34 B. C. D

[Option ID = 10394]
3. B.D.E Only

97 B, D. E

[Option ID = 10395]
4 A D.EOnly

FFaA.D. E

[Option ID = 10396]

1 ;
0 Griven below are two statements :

Statement I :  Often qualitative studies provide too many details of the sefting that are
investizated.

Statement II :  Crtics point out that gualitative research suffers from the 1ssue of
replication.

In the light of the above statements. choose the correct answer from the options given helow



-~

H 71 e feu o # .

FH [ RS eI wRa W TR = 2 wieEae @ a sifae e vee e 2

Fo9 [1: A== A 500 FFan 2 fF onesss omg Trrahe f1 @9e 3 0 2

I YA AT H, A9 70 7 e 8§ w98 3w ) =99 #ian,

[Question ID = 2600][Question Description = 115_00_General_21_SEPT22_Q15]

1. Both Statement I and Statement IT ave tiue

FoA 1 &1 I =41 909 &

[Option ID = 10397]
2. Both Statement I and Statement II are falze

F99 [ S0 I ZF] #6973 2

[Option ID = 10398]
3. Statement I1s true but Statement II 1s false

Fy9 1 579 2, wifehd #9599 1L A9 7

[Option ID = 10399]
4. Statement Iis false but Statement IT is true

F9% 1 59 2, oiied %99 11 aeg 2

[Option ID = 10400]

11 N . . . . _— .
) In communication. a high order of inference drawn from experience. direct or indirect, 1s

responsible for

TR H AT AT TS B F AT W el UF 3= e ] S et | A e fou s
37

[Question ID = 2601][Question Description = 116_00_General_21_SEPT22_Q16]

1. Generalisation

HHT=TF]
[Option ID = 10401]
Simplification
; I.E '-I. ﬂ]‘.ﬂl

[Option ID = 10402]



3. Absfraction

[Option ID = 10403]
4. Strong reaction

I-‘.-. ﬁﬁ

[Option ID = 10404]

12) In which context. the true effects of mass media communication on mass audience ‘can be
under stood?
[ G

eiTign 8 TG Aed 4 /G Hiisal & TEY & oA A1) 59 9 91 9l U9E] SS9 A g9Eal 2 7

[Question ID = 2602][Question Description = 117_00_General_21_SEPT22_Q17]

- Economic

[Option ID = 10405]

2 Social

TTHTIF

[Option ID = 10406]
3. Political

[Option ID = 10407]
4. Spiritual

[Option ID = 10408]

13 , ) . o
) When 1t comes o knowledge-sharing. the important aspects of commumcation are :

(A) The supply side

(B) The demand side

(C) The policy currents

(D) The push and pull of policy makers
(E) The choice of filters

Chaase the eorrect answer from the options given below :



A W T R S R @ e % HEea v w
(&) AT E

(B) ®F U4

€y s mEmE

(D) #ifa FEE & 97 #@1 caE

(B) Thez-Taeed

U U e § ° TE I 9 949 S

[Question ID = 2603][Question Description = 118_00_General_21_SEPT22_Q18]
. A B.COnly

Fa9 A. B, C

[Option ID = 10409]
2. B.C DOnly

Fa9 B, C.D

[Option ID = 10410]
3. C.D.EOnly

Faa C. D. E

[Option ID = 10411]
4 A D.EOnly

#9979 A. D. E
[Option ID = 10412]

14 .
) (nven below are two statements :

Statement T :  Communication and socialisation are two non-convergent dimensions of

any modern soclety.

Statement IT : Communication enables the promotion of values that facilitate the

process of enculturizsation of people In a society.

In the light of the above statements. choose the correct answer from the options given below :



™

1= =1 e feu o 2 .

FAT 1 FEET S FEEE 6 et wee & w7 -sthEn s 2

FoF [1: TR 39 qodl &1 UIeETed oF H 949 91 8, S S0 § AN 9 HESaE Sl ST @

T S 2

ST YA o S 3, A4 50 0 famen 3 F HE I w994 S0

[Question ID = 2604][Question Description = 119_00_General_21_SEPT22_Q19]

1. Both Statement I and Statement IT are true

F99 1 & [ =H 979 2

[Option ID = 10413]
2. Both Statement I and Statement IT are falze

[Option ID = 10414]
3. Btatement I1is true but Statement IT is false

Ty 1 T 2, el &9+ 11 \9eg 2

[Option ID = 10415]
4. Btatement I is falze but Statement II 1= true

™.

FUH I A6 2., odd &9 [L 99 &

[Option ID = 10416]

15)
Given below are two statements : One 1= labelled as Assertion A and the other iz labelled as
Reason R.

Assertion (A): Communication has the power to persuade, inform and disinform.
Reasons (R) : The process of propaganda makes the line of distinctlon transparent

hetween its elements for being persuasive.

In the hght of the above statements, choose the correct answer from the options given

below:



F= =1 YA fou T 2 ;U AHEed (Assertion (A)) F ¥ H fafigd 2 @1 gH0 39F FH0 (Reasons (R))

ATFST (A) - TEmEY H v 3w, g0 S S e g9 51 S I B 2
#F0 (R) : SAfayEn (W) @ ulE fAYe 1 - e Aeadenes ael # s

JEEI SHIET 2|

SULITh YA o AT §, A 160 U Hewedl § o gaf 3T % 949 wifay

[Question ID = 2605][Question Description = 120_00_General_21_SEPT22_Q20]

- Both A and R are true and R is the correct explanation of A

(A) $1 (R) 5H @7 2 AT (R), (A) F1 T8 == 2
[Option ID = 10417]
2. Both A and R are true but R is NOT the correct explanation of A
(A) 31 (R) ZH1 @ed 2, ofed (R), (A) 1 @dt = 75 2

[Option ID = 10418]
3. A true but R i= false

(A) Te 2, A (R) #8092

[Option ID = 10419]
4. Ajis false but R is trae

(A) 3797 2, A (R) &7 2

[Option ID = 10420]

16) There are three numbers in the ratio of 3:5:7 and the sum of these numbers 1z 975. Find the
three numhbers,

A1 TSl F1 ATREH A 3:5:7 2 AT I %@ A0 075 2| T §H S #d ol 27
[Question ID = 2606][Question Description = 121_00_General_21_SEPT22_Q21]
1. 195. 325, 455
[Option ID = 10421]
2. 825,195, 455
[Option ID = 10422]

3. 165, 310470

[Option ID = 10423]
4. 905,815, 450

[Option ID = 10424]



17 . . , o . .
) The simple intevest accrued on a sum of certain principal is Rs. 1200 1n 4 years at the rate of

3% per annum. What would be the simple interest acerued on thrice of that principle at the

rate of 6% per annum in 3 yearz?
8% 1 e o | 4 WA § FE qerEd W 1200 A @GR S & 9§ 5931 gU1 30 g9 o (o
TAaH T 6% T TIE T H 3 AT F RO WERT =S I 2 e

[Question ID = 2607][Question Description = 122_00_General_21_SEPT22_Q22]

1. 9150
[Option ID = 10425]
2. 20860

[Option ID = 10426]
3. 2025

[Option ID = 10427]
4. 2100

[Option ID = 10428]

8)  Find the next term in the following sertes: 1.2.4. 6. 7. 18. 10. 54. 7

Fefafiag gaen 3 oren 98 # 8: 1.2.40 6. 7. 18, 10. 54, ?

[Question ID = 2608][Question Description = 123_00_General_21_SEPT22_Q23]

1. 162

[Option ID = 10429]
2 13

[Option ID = 10430]
3. G4

[Option ID = 10431]
4. 79

[Option ID = 10432]

19)
In a certain coding language. if ‘CRICKET is coded as 2632479, ROCEET i1s coded as

612479, and "KETTLE 1is coded ds 479907. then how LOCKER' shall be coded in that

oy
langauge?

afs ol %z @ § "CRICKET &1 %2 2632479 &, 'ROCKET & F2 612479 8, 7 KETTLE &1
2 479907 2, 79 38 911 ¥ “LOCKER' %1 %2 #1 72

[Question ID = 2609][Question Description = 124_00_General_21_SEPT22_Q24]

1 102674
[Option ID = 10433]
2. 021647
[Option ID = 10434]
3. 120764
[Option ID = 10435]
4. 012476

[Option ID = 10436]



20) On allowing two succeszive discounts of 20% and 15%. the selling price of an article becomes

Rs. 3060, What 1s the marked price of the article?

el 750 F Tt g0 9 20% < 15% 1 71 3700 %2 59 W 36 (95T 959 €. 3060 7 AW 2| 56

[Question ID = 2610][Question Description = 125_00_General_21_SEPT22_Q25]

1. 4000
[Option ID = 10437]
2. 4100

[Option ID = 10438]
3. 4900

[Option ID = 10439]
4. 4300

[Option ID = 10440]

21)
If 'some men are vegetariansg' 1s given as false. which of the following can be inferred to be
true from it?
EY All inen are vegetarians,
(B) No men are vegetarians,
() Some men are not vegetarians.

(D) All non-vegetarians are men.

Choose the correct answer from the options given below :

% HD T ARER e B9 8 12 T E A FeteEEe 8 H e A sEETEe e S gk 27
(A) =TT I E

(B) = B EREE TR R

(C) =3 = WIERTEA 6 2

(D) B T-IEREE o 3

Tom T faReTl B T A I F A A

[Question ID = 2611][Question Description = 126_00_General_21_SEPT22_Q26]
1. A Band COnly
Faed A BT C
[Option ID = 10441]
2. B.CandD Only
Fa B, C 3 D
[Option ID = 10442]
3 BandCOnly
a5 B # C

[Option ID = 10443]
4. C Only



+ae C

[Option ID = 10444]

22 ; : ) ; i - .
) For which of the following forms of categorical propositions conversion is vahd?

(A) Some S1s P

(B) Some 8 iz not P
(C) NoSi=P

(D) AllSi=P

Choose the correct answer from the opticns given below :

s AT F T TR A W e diEed 3 27
A Fw'S P EAE

B T3 8 P AEEEE

(Cy =S P R

D) = S P EE R

om0 el B 0 HE I w0 = A

[Question ID = 2612][Question Description = 127_00_General_21_SEPT22_Q27]
' A B.C.DOnlv

F=4 A B.C.D

[Option ID = 10445]
2. A CandD Only

FAAA C3R D
[Option ID = 10446]
3. B, Cand D Only
FE B, C#HAR D
[Option ID = 10447]
4 A BandD Only
Faa A B3 D

[Option ID = 10448]

23) Depending on the intention which of the following logical mformal fallacies may be mvolved

in the following argument — T am shocked to hear you preaching atheism. Does vour father
know vou believe that?

{A)  Appeal to authority

(B) Appeal to emotion

(C)  Appeal to majority

(D) Appeal to force

Choose the correct answer from the options given helow :



AT T AT HEETEd B | FA ° AEE SATENE 219 HeEnEs a6 5 B 7 99 27

AT HTTETE] SR HAE § EAed f| W S AT 98 WA A 16 98 3H A B

(A) wiuER e
(B g AR
(C)  ===d s

(D) == AR

oo 7 el § | TF 5 W =9 wnam

[Question ID = 2613][Question Description = 128_00_General_21_SEPT22_Q28]
1. Aand D Only

Faet AT D
[Option ID = 10449]
2. A gnd B Only

FT9 A 57 B

[Option ID = 10450]
3. BandD Only

#49 B &7 D

[Option ID = 10451]
4 Band C Only

Fa= B w1 C
[Option ID = 10452]

24 g
) (iven below are two statements :

Statement I

In svartha Anumana (inference for oneself) we do not require a formal

statement of the different members of inference, according to Nvava

view of inferernce,

Statement 11 : SBvartha Anumana is a psychological process.

In the Light of the above statements. choose the correct answer from the options given below

e

A 5 F o T
TR L IEAR F A A OF SEAT Y 9NN 7 SHAW F 9 900 F e w6 A

= L 5'_‘
7=l 95l 7l |

Fo I1: T S A T 7

ST HUA F ST A, A9 5 T e 1 A w9 S W 9ad S



[Question ID = 2614][Question Description = 129_00_General_21_SEPT22_Q29]

- Both Statement T and Statement I are correct

Fo9 I o7 [ o1 931

[Option ID = 10453]

2.  Both Statement I and Statement IT are meorrect

[Option ID = 10454]

3. Btatement I is correct but Statement II is Incorrect

Fua 1 981 2, #0 Fe[ I e =

[Option ID = 10455]

4. Statement I iz incorrect but Statement IT 1= correct
FoH 7o &, @ Fab [ AA 7
[Option ID = 10456]

25 5
) Given below are two statements :

Statement I 1 Amrstotelian svllogism is eszentially verbalistic.
Statement IT :  Nyaya system recognizes the fact that the verbal form is the essence of
inference,

In the light of the above statements. choose the most appropriate answer from the options

ziven below :

dEAFE T E

FE 1 SFEETE AEEEE T AeE w5 A

Fod IL: =118 U5 39 794 1 504] TEE Al 7 1 oiEeE =9 S9EE H A A

THTE T F ACE °, 49 158 70 {Fhed § A HEH 39gw 30 1 594 i

[Question ID = 2615][Question Description = 130_00_General_21_SEPT22_Q30]

- Both Statement I and Statement IT are correct

w2 I 30 [ = 791 3

[Option ID = 10457]

2. PBoth Statement I and Statement II are incorrect



w9 [ @ L= =4 =

[Option ID = 10458]
3. Btatement I1s correct but Statement I 1s incorrect

w1 T8 2, = F01 11 7 2
[Option ID = 10459]
4. Statement I1s 1ncorrect but Statement II 1= correct
FT9 I e B, S 99 [ AE B

[Option ID = 10460]

26) Miss Reena has been appointed by the Cyber Security Cell of Mumbai to break into the

wehsite of a terrorist organization to extract information. What among the following 1s a
suitable deseription of Reena's profile?

TS % AEAT W] WIS 1 UE AEEAN Ba geHl gEAT e @ (e s GeEiss § 99w Ee

i Fafer 1 21 1 1 e = Frefafes § ®@ w6 @ s T T 27
[Question ID = 2616][Question Description = 131_00_General_21_SEPT22_Q31]
1. Haetivist

ezt

[Option ID = 10461]
2. FEthical Hacker

[Option ID = 10462]
3. Troller

’-.

[Option ID = 10463]
4. Black hat hacker

[Option ID = 10464]

27 .
) Given below are two statements :

Statement I : 8 megabytes = 212 gigahyies
Statement II :  The decimal eguivalent of the binary number (11101.101)21s (29.625)10.
In the light of the above statements, choose the correct answer from the options given below :

4= = Foa o B

FeA I 8 AR = 218 e

Fod I1:  Tg=e @iem (11101.101), 1 Som=" G097 (29.625),, 71

T HEA F AR H, 99 B0 W S 3 8 =8 39 W =4 S

[Question ID = 2617][Question Description = 132_00_General_21_SEPT22_Q32]



1. Both Statement I and Statement IT are true

[Option ID = 10465]
2. Both Statement T and Statement IT ave false

24 1 31 I =F 5e4 7

[Option ID = 10466]

w

Statement Iis true but Statement II 1s falze
T2 15 2, =06 9 I 5990 2

[Option ID = 10467]
Statement I 1z false but Statement II 1s true
F2A 1 59970 2, = 523 [T 9 2

[Option ID = 10468]

28 g i
) Which of the following statements are correct?
Principal components of a CPU in a computer include:

(A) The Solid State Drive (SSD) that stores data perristently. typically using flash
MEmory.

(B)  The Anthmetic-Logic Unit (ALT) that performs arnthmetic and logie operations.

() Processor registers that supplv operands to the ALD and stores the results of ALU
operation.

(Dl The Control Unit (CU) that orchestrates the fetching (from memory). decoding and
execution of iInstructions.

Choose the correct-answer from the options given helow :
FrefenEs @ 9 F9 ° T2 991 5 7
FAZ F H N T wHE w9 F e o A
(A) Al =0 T TeEw wie o TE A ST G FeET A 2 5hT (THuEe)
(B)  HHTIOHE 5 7 TEEE AT SEAR §9 U (1 )

(D) (gl =) =0, T A S92 & FEEE e TR A v (H)

T T feekeat |9 | AR 390 S = i

[Question ID = 2618][Question Description = 133_00_General_21_SEPT22_Q33]
1. A Band C Only

Fad A BHATC
[Option ID = 10469]
2. B,Cand D Only
Fa9 B, C 3 D

[Option ID = 10470]
3. Band C Only



Fad B 35w ¢

[Option ID = 10471]
4 AandD Only

FF A AT D

Fae

[Option ID = 10472]

29)

Which of the following statements arve correct regarding VoLTE?

{A) VoLTE stands for ‘Voice over Long Term Evalution’.
(B) It is a digital packet voice service delivery over IP via an LTE aceess network.
(T Provides more efficient use of spectrum than traditional voice,

(D) Ehminates the need to have volce on one network and data on another network.

Choose the correct answer from the options given below :

st o v # Frefeie & R T e T

Ay FEEEE T =9 2 I A A e e

(B) == TE TR AT EEE F whw 9 N w e i am ot e E
(C) == Il &= i ge1 § FIagq F1 A9F Fo 990 TEH Fal 2

w0 fasheql 5 | HAl S =S A

[Question ID = 2619][Question Description = 134_00_General_21_SEPT22_Q34]
. A B, CandD Only

FaF A B.CHRD

[Option ID = 10473]
2. B.CandD Only

Fa9 B, C sin D

[Option ID = 10474]
3. A BandC Only

Fas A B C

[Option ID = 10475]
4 A CandD Only

FaA A CHARD

[Option ID = 10476]

30)

What 1= the concept of International Net Neutrality?

[Question ID = 2620][Question Description = 135_00_General_21_SEPT22_Q35]

Imposed limitations for end-te-end Internet access



T T A o T T e dtyeEal F e st g

[Option ID = 10477]
2. Broadband service providers can show preference to content

[Option ID = 10478]
3. Unimpeded end to-end Internet access and uzage

T I H o A O SEe o e AT S e

[Option ID = 10479]
4. All content that flows throughout the Internet should not be freated equally.

SEEIE I | TARA AAEd S —aed R HEE B 5 A (e A A
[Option ID = 10480]

31 ;
) Given below are two statements :

Statement I All patential pallutants arve synthetic chemicals.

Statement IT : Many of the emerging contaminants have been observed to

bioaccumulate in wildlife and humans.

In the light of the above statements, choose the correct answer from the options given below :
FoA 10 =l geaien woos F0E8 e = 2
FoE I0: A0 390 Fego B H FE ) S0 S0 S B Ha-w=n = A T e A
I FUE F AR H, 4= o T e § § JE I o =S i

[Question ID = 2621][Question Description = 136_00_General_21_SEPT22_Q36]
1. Both Statement I and Statement IT are true

[Option ID = 10481]
2. Both Statement I and Statement IT ave false

#o I 3iw 11 5F1 38 7

[Option ID = 10482]
3. Btatement I is true but Statement II is false

FoH 194 2, o 594 [l 5 ¢

[Option ID = 10483]
4. Siatement I i=s false but Statement IT 12 true

Fu4 [ 51503 7, 79 F0F LA 7

[Option ID = 10484]
32) i : ;
Typhmd fever. a water born diseaze 1= caused by

AT (ZIEHIES) UF Sei-AMd 10 2 H1 95 | 951 71 2 -



[Question ID = 2622][Question Description = 137_00_General_21_SEPT22_Q37]

1.

Virus

T (=T |

[Option ID = 10485]

Bacteria
i o —
[Option ID = 10486]
3. Protozean
R W
Head (M)
[Option ID = 10487]
4. Helminth
[Option ID = 10488]
33) . .
Given below are two statements ;
Statement I . Inereasingly. photovoltaie panels arve being used to supplement electrical
energy from the power grd.
Statement IT :  One 1ssue with giid-connected photoveltaics 1s that PV eells produce
Alternating Current (AC) whereas powergrids use Divect Currvent (DC)
In the light of the above statements, choose the correect answer from the options given below :
i =1 Y T T E
FA 1 uE Uz O fEEE T W wagis F F E TEe-aeEE 92 F 39E SeA 1 96 2
FH IL: Tz & 9= wEE AeE 390 h md U "9l 9 2 0% 9 aegEdiam (v ) I o a
TP IS Ted g (ST ) I e 2
IUE FAA h TR 9, 99 50T EEed 5§ EE 3T A =9 S

[Question ID = 2623][Question Description = 138_00_General_21_SEPT22_Q38]

1.

2.

3.

4.

Both Statement I and Statement I are correct
F94 [ i 1 a1 &4 2

[Option ID = 10489]
Both Statement I and Statement IT are incorrect

w24 130 Il oM e =

[Option ID = 10490]

Statement I is correct but Statement I is Incorrect

w9 LTl 7, wiehd TaA [ ed 2

[Option ID = 10491]
Statement T1s in correct but Statement IT 1= correct

Faq 174 7, wia has a8 7

[Option ID = 10492]



34)
Given below are two statements : One i1s Iabelled as Assertion A and the other 1= Iabelled as

Rea=zon R,
Assertion (A) Chlorofluoracarbons (CFCs) are potent sreenhouse gases,
Reasons (R) : CFCs have the ability to catalyvtically destroy ozone in stratosphere.

In the light of the above statements. choose the most appropriate answer from the options

given below :

419 =1 FoF Tow o # L mF wifeEed (Assertion (A) F #0  fHhEa 7 77 551 369 A0 (Reasons (R))
FEIH ;

AR (A) FANIFATT -8 (H1.7%, 603 ) T6= THsE 11 2

T (R) : Ht.wF. i 791§ HEAwEEA § W IO 2 A FE F A w6 2

SWTE FUE F AEE 5, 9 50 T e § | 598 I I A w9 i

[Question ID = 2624][Question Description = 139_00_General_21_SEPT22_Q39]

. Both (A) and (R) are correct and (R) is the correct explanation of (A)

[Option ID = 10493]
2. Both (A) and (R) are correct but (R) 1s NOT the correct explanation of (A4)

A 377 R =M1 o091 7, 99 R, A1 T8 = 5 2
[Option ID = 10494]
3. (A} 1= correct but (R) is not correct
A=A 2, w9 R A3 941 7
[Option ID = 10495]
{A) 1s not correct but (R) 1s correct
N e T - o

[Option ID = 10496]

33) Global warming can lead to/aggravate which of the following natural disasters?

{A) Draught

(B) Earthguake
(C) Flood

(D) Storm

Choose the correct answer from the options ziven below :



Frfertgn B & =i =i weslae w9, geeeE o Al @A | 3w wier TR A 2|

(A)  Tmn
(B) gFm
(C) =m®

(D TFFHE

fon v faweTl B 0 TF 3 W 999 Fian

[Question ID = 2625][Question Description = 140_00_General_21_SEPT22_Q40]
1. A B COnly

#a5 A B. C

[Option ID = 10497]
2. A C.DOnly

Fa9A.C.D

[Option ID = 10498]
3. B.C.D Only

FAAB. C. D

[Option ID = 10499]
4. B, D Only

F==B.D
[Option ID = 10500]

36) In India. much of the Central Government expenditure on general hizher education is routed
through

A
=T

e 0 W I WET 9 A Al F g AR S TR IS E AT
[Question ID = 2626][Question Description = 141_00_General_21_SEPT22_Q41]

1 Natural Council of Teacher Education.

A e e T

[Option ID = 10501]
2. All India Couneil for Technical education

[Option ID = 10502]

3. University Grants Commission

[Option ID = 10503]
4. National Council for Educational Research and Trainine.

[Option ID = 10504]

37) Aecording to current estimate. the gross envelment ratio in Higher Edueation in India is

arvound 27%, which iz expected to be increased to...........hy the end of 2035.



TAEH A F AT W, = @4 B g A 990 o0 27% 2 T amee 2035 F o 0
[Question ID = 2627][Question Description = 142_00_General_21_SEPT22_Q42]
T 30%
[Option ID = 10505]
2. 40%
[Option ID = 10506]
3 50%
[Option ID = 10507]
4. 60%

[Option ID = 10508]

38) Given below are two statements :

Statement I : In India increasing access to higher education haz heen constrained by

low completion rates at secondary education stage.
Statement II : By 2030, all multidisciplinary higher education institutions will be

closed down.

In the light of the above statements, choose the correct answer from the options given below :

)

= 7 FoE o E -

Fed [:  G9FF H I9 [ 9% TEd T SonEl TEANE WS O W FE T A F R e

el

Fed I1: T 2030 7F O] SEEOaF 39 0 JEH 7= W 0 S

[Question ID = 2628][Question Description = 143_00_General_21_SEPT22_Q43]
1. Both Statement I and Statement II are true

e [ 307 I =9 &7 7
[Option ID = 10509]
2. Both Statement [ and Statement II ave false
w3 I oHl s|e 7

[Option ID = 10510]
3. Statement Iis true but Statement IT 1= false

w2 L aen 2, @tea waa 11 3 2

[Option ID = 10511]
4. Statement I1s false but Statement 1T 1= true



Fuq 1 3797 2, @A %94 [ oed 2

[Option ID = 10512]

39 . N . -
) Broad parameters adopted by National Institutional Ranking Framework (NIRF) are

(&) Teaching. learning and Resources
(B) Graduation outcomes

(C) Outreach and Inclusivity

(D) Peer perception

(E) Low Carbon footprint

Choose the most appropriate answer from the options given below :
T HETE Yy =) (NIRF) g0 A9 0 =9 Hi9Ssi 8 A B
(A)  FEETE, Al AR EEeE
(B) A = F G
(C)  wEm A gEE
(D) =EHal 1 gron

(E) =1 = w5

&n T fweTl © | 98 I W 9 A

[Question ID = 2629][Question Description = 144_00_General_21_SEPT22_Q44]
. A B.C.DOnly

=9 A B.C.D

[Option ID = 10513]
2. A B.D,E Only

Fa7A. B.D. E

[Option ID = 10514]
3. B.C.D.EOnly

29 B.C.D.E

[Option ID = 10515]
4 A C.D.EOnlyv

F=4 A, C.D. E

[Option ID = 10516]

40) Which University in India was first to throw all University examinations open to girvls?
YA % elengd 9 § e Heataoem § unedt 9w wsreal % o HvatEaes foad afiee oy F

»

23

7

[Question ID = 2630][Question Description = 145_00_General_21_SEPT22_Q45]

1. Punjab University

. el



2.

3.

4.

[Option ID = 10517]
Calcutta Univerzity

I o
EEERINEEEIEEIEE

[Option ID = 10518]
Sawvitribal Phule University

e T SR C
HITFHANEE el iﬂda EEIEE

[Option ID = 10519]
Bombay University

[Option ID = 10520]

Topic:- GP_29SEPT22_SH2_S1_C

1)

Read the following passage and answer questions from questions 46 to 30

The conceptions and treatment of poverty were guite different before 1940, In colomial times
the concern with poverty was conditioned by the helief that even if the natives could be
somewhat enlichtened by the presence of the coloniser. not much could be done about their
poverty. It was because thelr economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societiez had developed
wayvs of defining and treating poverty that accommodated visions of commumity. frugality.
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy. systemic 1ssues became inevitable.

It 1= 1mportant to know the break that occwrred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occupied an important place in this transtion. The
transformation of the poor into the assisted had a profound consequence. The modernigation
af poverty mnvariably affected vernacular relations,



Fefottias Taer 9ied 31T 9T HE 46-50 F 3 A

T 1940 T Teef FA9AAT Tl GwonT S e 5T 59 TR R 4| S9HEts e 8 Hhaa & e
HEASAl 36 favamE A vl A TF suEEeE st 99 A geeanaE S Arst wed -0 w6
U, Sl HUSA SN B SIS BS A TR 31 9AT) UHT SHT U1 T SR ANAE S R
ek o) sl wie % SaE =EE S TR & A § O $1 na w9 9 S

9| =2 79 2 5 gt 9l § safatEene WA ae 9 3w S S - Fien WEeEe 3 gEaEl Fi
foa-tam = =) ofmE sER FAS G0 W 9E, 99 OSF S e 9 9Ea O S

ST F HRR A & A1 ST T W] A A w e | A Jee Sensl S g
T 7o fa=Ee w1 A SEe 2, WEA fa=9n W W o YAEE | 399 % A Bl A SweEdl dess
= g § TEwE F AV & W § A Th [9ean W AU SHiEel el § WAl Ay SEEn 6 e
3 SHEETE] F 394 O ] A A AaAreE TR 50 TS S S aEl SEEaT o o) 25
TFET A AITER FTF BEA0 T2E 3| FHE & SEEal W G B S F O TR T w5
1| A SR T AR EY 5 S0 W O

Before 1940. colonisers believed that poor countries

T 1940 H Tre SACEETEAT 1 =vamE 91 = e g 5

[Question ID = 2631][Question Description = 146_00_General_21_SEPT22_Q46]

1.

2.

3.

4.

Can be changed

G ot e 2 = o | 4

[Option ID = 10521]
Can be totally enhghtened

G SHHETA ST A AT 2

[Option ID = 10522]
Cannot be changed

e B L e 1 o e ]

[Option ID = 10523]
Do not need their presence

[Option ID = 10524]



2)

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe, and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.

M TeTiEE TN gigd HIT U HE 46-50 % 39 20

T 1940 T e FdAW T 9n $F EEEs w9 TEE F 9| S9REnTE Fe 9 Heaa F 0
AT $9 AW R OUHEA H TR SUEERE i S 0 A geEies w ATST S TS S
U, I A AR H S Ew AA AT 1 HEaT] UHT SElAT A1 FAIE 39 ANAE TR
e 1| ST e F AT A A T & g ¥ G i e I e A

7| 7= T= 2 T AT 991 8 A= Hae e a9 391 96 S - Fiew AU § ggnEl
foa-Tag =7 =) aienmEa: $EA FAS] AP W ONE, W S 3 qEieAl H GG #9151 Sren-

AT F GERE F O SR T el T, A w1 | A T e 37 g
T 0 fa=sm F T S R, TR 9=9n A T AEn F 35 A9 5N S Sadt wess
=t g 7 fowm % AT W 5| Tee (e F A SHEel el 8 HEE F WY == & e
e e e e e o 1 1 | B o e e = B 28 B A 0 e 1 ) 1 e o o o 500 B e
FFON T AROEE F UF TEeA T4E 2| FHEA % HEEdt W A 8 =9 & e aiems w5

o) A1 F AR T O S H SO AT R T

The Vernacular societies encountered economic poverty with

#9715 TETH 9 A e A e merg = e

[Question ID = 2632][Question Description = 147_00_General_21_SEPT22_Q47]

1.

2.

3.

Selence and technology

[Option ID = 10525]
External aid

[Option ID = 10526]
Modern ideas



4. Use of vesources sparingly
[Option ID = 10528]
3)

\_mr' rr

[Option ID = 10527]

Read the following passage and answer gquestions from gquestions 46 to 50

The conceptions and treatment of poverty were gquite different before 1940. In colonial times
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv, the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societiez had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that massive poverty in the modern sense appeared only when the
spread of market economy broke down the communities, A= a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izzues hecame inevitable.

It 12 mmpertant to know the break that cccurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe. and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of svstems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modernization

of poverty invariably affected vernacular relations.

FeTlEEa T 9ied A1 Uvq " 46-50 F I 2|

T 1940 T WEe [T T g 3 T Ay e TR 6 9| SuEaers w8 [+
T 39 famaE # vdiEe H F sEeeE e 9 A geaneel FATST A S - a
UNE, I YA F AN H SN EW TR AT 91 ATl U7 SEIAT A1 FHIE 39 ANGE T
e o) TF W F W e S T A ¥ G # aEar 9= 5= A6 )

9| TE T 2 T SR g 5 sAntaener e Fae a9 390 9 S - Fien WUsrEed 5 gEaEl #i
fom-Tam 7 =) 9fiEa: $EF FATS] SR W Y, S S50 S GEHEEl 9 dfad w0 fear| S -

AT F g F A S T e T SIEE 7 T | A S et 37 T
T 7 faess w9 g E, TR [O=sn A W 9 UAER F 354 F Ad 5 A Sal |ess A
e g § o F S W B U =g W avE SEmEl Tl § [ F WY =EEn F o
e e e e e o o 1 | o e i~ £ et 8 M A e 0 e 1 1 2 ol 2 o o o B e
FFE T AFIGEE F T AEAYN 24H 2| FHE & ZEEal W Gn § =9 F OF TR 9 w6

1| I F SR 7 T = % S e O =

The market economy was responsible for

[Question ID = 2633][Question Description = 148_00_General_21_SEPT22_Q48]

1.

Increased access to resources



2.

3.

4.

4)

[Option ID = 10529]

Massive poverty

HfaTET e

[Option ID = 10530]
Enhghtened development

[Option ID = 10531]
Idealisation of tradition

[Option ID = 10532]

Read the following passage and answer gquestions from guestions 46 to 50

The conceptions and treatment of poverty were gquite different before 1940, In colonial times
the concern with poverty was conditioned by the belief that even if the natives could be
somewhat enlightened by the presenece of the coloniser. not much could be done about theiwr
poverty. It was because their economic development was pointless. The natives’ capacity for
science and technologv, the hasis for economic progress was seen as nil. However. within
Asian, African and Latin or Native American societies. vernacular societiez had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that mazsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic izzues hecame inevitable.

It 1= 1mportant to know the break that occurred in the conceptions and management of

‘poverty first with the emergence of capitalism in Europe. and later with the advent of

development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthropy occcupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modernization
of poverty invariably affected vernacular relations,



Fefottias Taer 9ied 31T 9T HE 46-50 F 3 A

T 1940 T Teef FA9AAT Tl GwonT S e 5T 59 TR R 4| S9HEts e 8 Hhaa & e
HEASAl 36 favamE A vl A TF suEEeE st 99 A geeanaE S Arst wed -0 w6
U, Sl HUSA SN B SIS BS A TR 31 9AT) UHT SHT U1 T SR ANAE S R
ek o) sl wie % SaE =EE S TR & A § O $1 na w9 9 S

9| =2 79 2 5 gt 9l § safatEene WA ae 9 3w S S - Fien WEeEe 3 gEaEl Fi
foa-tam = =) ofmE sER FAS G0 W 9E, 99 OSF S e 9 9Ea O S

ST F HRR A & A1 ST T W] A A w e | A Jee Sensl S g
T 7o fa=Ee w1 A SEe 2, WEA fa=9n W W o YAEE | 399 % A Bl A SweEdl dess
= g § TEwE F AV & W § A Th [9ean W AU SHiEel el § WAl Ay SEEn 6 e
3 SHEETE] F 394 O ] A A AaAreE TR 50 TS S S aEl SEEaT o o) 25
TFET A AITER FTF BEA0 T2E 3| FHE & SEEal W G B S F O TR T w5
1| A SR T AR EY 5 S0 W O

Capitalistie development introduced the idea of

[Question ID = 2634][Question Description = 149_00_General_21_SEPT22_Q49]

1. Modernised poverty
SR E AT
[Option ID = 10533]

Impersonal institutions

hﬁ B I he W

[Option ID = 10534]
3. Third world

e v

[Option ID = 10535]
4. Vernacular relations

[Option ID = 10536]



5)

Read the following passage and answer questions from guestions 46 to 20

The conceptions and treatment of poverty were guite different before 1940, In colonial times
the concern with poverty was conditioned by the bhelief that even if the natives could bhe
somewhat enlightened by the presence of the coloniser. not much could be done about their
poverty. It was because their economic development was pointless. The natives capacity for
science and technologv. the basis for economic progress was seen as nil. However. within
Asian, African and Latin or Native Amerlcan societles. vernacular societies had developed
ways of defining and treating poverty that accommodated visions of community. frugality,
and sufficiency. It 15 true that maszsive poverty in the modern sense appeared only when the
spread of market economy broke down the communities. As a result. it deprived millions of
people from access to land. water and other resources. With the consolidation of market
economy, systemic 1ssues became inevitable.

It 1= impertant to know the break that occurred in the conceptions and management of
‘poverty first with the emergence of capitalism in Europe, and later with the advent of
development in the Third world. The first break is described in terms of the advent in the
nineteenth century of systems for dealing with the poor. based on assistance provided by
impersonal institutions. Philanthrepy cccupied an important place in this franstion. The
transformation of the poor into the assisted had a profound consequence. The modermsation

of poverty invariably affected vernacular relations.

M TeTiEE TN gigd HIT U HE 46-50 % 39 20

T 1940 T e FdAW T 9n $F EEEs w9 TEE F 9| S9REnTE Fe 9 Heaa F 0
AT $9 AW R OUHEA H TR SUEERE i S 0 A geEies w ATST S TS S
U, I A AR H S Ew AA AT 1 HEaT] UHT SElAT A1 FAIE 39 ANAE TR
e 1| ST e F AT A A T & g ¥ G i e I e A

7| 7= T= 2 T AT 991 8 A= Hae e a9 391 96 S - Fiew AU § ggnEl
foa-Tag =7 =) aienmEa: $EA FAS] AP W ONE, W S 3 qEieAl H GG #9151 Sren-

AT F GERE F O SR T el T, A w1 | A T e 37 g
T 0 fa=sm F T S R, TR 9=9n A T AEn F 35 A9 5N S Sadt wess
=t g 7 fowm % AT W 5| Tee (e F A SHEel el 8 HEE F WY == & e
e e e e e o 1 1 | B o e e = B 28 B A 0 e 1 ) 1 e o o o 500 B e
FFON T AROEE F UF TEeA T4E 2| FHEA % HEEdt W A 8 =9 & e aiems w5
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The paszage focuzesd on

[Question ID = 2635][Question Description = 150_00_General_21_SEPT22_Q50]

1.

2.

The merits of market economy
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The need for philanthropy to reduce poverty
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The ill-effects of capitaliam
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4. The issue of redefining poverty in the Third World.
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